MKk & T HEB
www.keerbo.com

-—

1!

™

KEERBO iiIini®
Ml #IE ERTRETLERX FEiE: +86-576-89921338 89921333 fEH: +86-576-89921331

Mk www.keerbo.com B F=#: www@keerbo.com

Add: Yuhuan Auto Parts Industry Area, Zhejiang,China Tel: +86-576-89921338 89921333
Fax: +86-576-89921331 Http: //www.keerbo.com E-mail: www@keerbo.com

KEERBO iIfiRE

MK X & F A&l & &

www.keerbo.com



£
Q-_& r \

¢ =

KEERBO #lmiE

AREZ: DAAR HEAE HZA%
NRFEM: HIEBR EBR=EH

FTHEIRIE

. , BRIEF INTRODUCTION

HUIRIRENMARL R, ML T19974F, MTRERZ B —HIER, AR GH11500FFK, &
FEFR18000FH K, AREEFHIE: FHAhFE, RENFRLHEFE, FIROESHEFR, BXIT
BHEFE, DN NmEFE, AFKHEFE. BRSEFE. FHFE. BEFE, ORHBE
fl. PEMEZRMELOREGT., BERXFE, TURBKHME. BABTEM. BEETRER. BEILEE
EWIERS, E—REHAKR. EFT-FHAF,

FaUEEN., B, BREZRE; mOAHEEREIXMIFOMBENUNMMNTE% L&
BEMES, AESSEHMMITRERENNEE; URENETLTE, RURWEHHE; FRAEXR
R, ERRARE R ESNEHIREAREF

NRKRERRENE. BHEIE. SR, UMARMGE. SENNE. AHMRS, BRI KT
ol &

Zhejiang Kerbo Machinery Co., Ltd., founded in 1997, is located in the automobile and
motorcycle parts capital Yuhuan, Zhejiang, having an area of 11500 m2 and a
construction area of 18000 m2. The products mainly include power chuck, hydraulic
chuck of large vehicle lathe, numeric control rotary table hydraulic chuck, large hydraulic
chuck, four claws hybrid hydraulic chuck, internal swelling hydraulic chuck, automatic
indexing chuck, floating chuck, precision chuck, rotating hydraulic cylinder, double-piston
rotating hydraulic cylinder, diaphragm chuck, coupler of machine tool, precision vice,
numerical control lathe, precision vertical spline tooth machine, and so on. Zhejiang
Kebo is a company integrated with research & development and production.

The product has the advantage of laborsaving, high efficiency and high precision and is
the optimal device for the numerical controlled lathe and vertical machining center and
automated machine processing line. The company owns advanced processing
equipment and detection instrument, perfect manufacture technique, and excellent raw
auxiliary materials, and organizes production under state standard, international

standard and foreign advanced standard. KEERBD fflilmi;ii

The company would serve the customers with superior quality, reasonable price, Www-keerbo-com
—= = e — dedicated service in the spirit of sophisticated manufacture, sincere cooperation and WREEE I HER
' -t ] n | —— 1 innovative development. Machine Equipment Specialized Manufacturer

m=a ] e

ECITTE ‘ A




KEERBO

NHRRAGEZRESE-RER/90°

THRELAR AR AR

1.NHRRREZZLANHRR & A EM HITEINR T S5

2.NHRRREZMRRT —L(HEBHF M EELF)BHTEMIHARMIE
HE—EREERNBMETHOREAIMER

3.NHRRR&EEERN, EEHFNSENHR—ETTE.

KW=T/KWTZ & 0FahimE-R &2

SRFNBEITHBMR2IEFERTHENREENE LB HMEE
HIIZHIESHR:

1 THHREFER, SBFE10°MEE, TEEGEREMNS, BF
REBIFED (WEPAR) ;

2B T IRRY T RO AAMRRI R &

3 ARKREMIMEREEINEIR

AESEMBERIL: 0.03mm.

SPW/ISPWT#MZMEHI R &2

THRELAR AR AR

1. PSRBT AN, (ERERARISH,

2 REMHNBBMHREBETEXLE, REAKYER, BERSE
EMKNERED;

3.BONME;

4 ESERERE.

BU=T/BUTZMEhU &

1.BUBHI R =M-EE&5BUTRRI Z M2 R T HERE;

2 BURRIR REERTNIEEESHTEEERNTHILERER
SSEERT

SEETRE IHNRATERI-RAERE;

AESEMBETIA: 0.02mm.

MEA/BR 7] ¥4 3%

HRELAR S R
1.MEA/BRTIEALNER UL FS AR AMNEXEN TS
09, HEEEERRE;

LHGRESITENARIEES S,
3REAETREFEKURFELE, WESTHAMIERT;

4 EBUMEERI££0.03mm.

KU/KUT/PU/PUT&HEIVHERE

18RRI REBE L2/ | 3MA b Z22)T | 3R AR

2AHN N FEERTMIREEMN. EEEMFTERTERNT
SRR TR R FE R R AR,

3RER BRI =M FESKUTHIREXRR —M-RERIHERE;
ABSEMBERNL: 0.025mm.

PUERIER PIEiE-R &2

1B IHEERS AN EERNXE, REtEEEREIM4SENEEER
HITHEE;
2EAENTREEANEEENROENIEEERNN I
3EEEMBERA: 0.025mm.

BF=/T/BFT_ Mg\ MiEtt £&2

1.BFRERERFEXE AR T HNEEH#ITRE

2 BERTRIMERRER ZREEET (4

3. R8%85"6"8",10",12",15", 18" FEX/IMREH D E = TAI =T AT it
R,

MDS/MDLiER\F&

1.MPSERXREELEHIRE, B3N, 6MAAHERE;

2. BRUKHAIIMEP.C. DAEERITR A I LA TR A AR R IKE
MTIX R RRDEEK;

3IIABAMNIEIH AFERTRSRINAATBRINT;
AEESREINTIHE. HE. BEhl. HERKRKES,

S5ASHREN SR, ETLRIES P RNEREITRRRIIRT

6. EEEMEEFIX0.0Tmm.

B x

/|

BSAMIMIF& ( HEERRSGEMERR )

| SERTASERES R (SRIEEMI ) fHE,
AMEEFOILER; QBEERRERLHNROE; ORNBEBIWE
ALK, WahsAI A T ROISE ; @ UREhS BT ERE R I B2
. GHERHMEE LT RITBE R EREREETL; CBEkaR
EAAT AR E TR T 454, )
2 MM R SE IR E RIS, DMNEEROILER; O THRREN
AR AR RN AR AR THOSE, RhEETERmER
THEEIMS; 5 QBTN B S IR M TR R T R0
Tr®; @mmIEs A0SO AR EID B ol iE e R SRR,




KeEERBO ZJE!

"NHZ 'NHU "NHR NHRR BLT KN KL KLT
BN ESEENNEE AISESEEHAEE APSERENINER00°  RORERESE-ER00° REATE_AEER REEESGAEER SRy — G E FEAFESNHEESE  REATE_HEER
/ 4 \o" e
_E J‘ .
] = .
ﬁj\ 4 > .
. .
E p-03 @ ° pos @
= ___NHRP_ _ ~_NHRD ~ NHRL
o EEAEENBI R0 EHSEELH)ERIO0  EHH EFH N /180
Jﬁl .
7

Ghe

(% !
pog —°®

oY
WA S, HEFE

KW KWT
=GREILFEHEF & ZIGRIF R EF &

—

LUE
AEXNES, HEFE

NW-R,ER K-A
o S X0 32 2 1 5 B 4T Fh 335/ [B $4T

KU KUT P
FEIREXEH & R ER ZNE& FERX N

e r 1 B
o
P -

\__. : k | DI&
?‘.__ , .\ I‘.
- P-59 P-60 P-61 e
BFT ” ~ B-RH
ZER s F& : AHRAMERGHE R (FT kR iER ) oSk & B4 AT

5 3 -
%
), ."_# 3 - -
P-30 — P-66
MEA/MEB M-U - B-U _ K-W H-U
B ak i ERI JaRrsNF&imEZIN FEEEHERT HERE T

;.

& % ek 'y
oo gy RN ‘o R - °!
Y _,,E" . .ﬁ’—J >
S
P-68 P69
T-KN/T-BN T-KW
T 5 FH £ AT HLE 4

sl OCOE

P-73 P-74 P-76




KeEERBO SEEERF

HalaEFRIEER %

A
CONSISTING ITEMS

- Aig
LB, BEFENMIAAERM 45E60EH 120 EHMK T4 £
%, BRUBENMIRBAGE, +FHERI(LATER)EIE

= BARSR
1. BN EFEESFEMY B I8
2. R RS E2ANIhEE, &EFEMEESEH
3. FEEH45°H60° B FEE 4 B, 5 5145°,90°,135°,180°F160°,120°,
180°BEh & &
4 HERFSERFERBENS ERFEAE
5. XEFERATEMEIZER, FBEEFEENIRE5-106Z

« EEAE
EZEHREREES, NTEERE

T e I R

DB EERE Auto Indexing Chuck
@M REEARK Pipe Bundle Assy
QrEsE 4 fii 25 Rotary Distributer N )
@90° 4 EERLM FF¥£ 90° Index Sensing S/W

Gk EE GBI Hyd.Unit Assy & Control Unit

—HE, 9k Oil Pump,Motor
—Zpgese, 1IjESE  Accumulator,Filter Ab\ OJ:=':ID
-EhFk, BE Pressure gauge,Sol.Valve A J b\ =
| +
o [Py S Output:1.5kw - |ﬂ| ]
-RKRKEHN Max.Pressure:45kgf/cm? I e
_/ ¥\

TR S B #sRotary Distributer

WEHAE Cyl. Adaper P47l Balancing Hole
: Beiike Pulley WK 1E Pipe Bundle Assy
é //’ E TAF Workpiece 8
=) é
53
=l

i Wil &%

JHE AL Main Spindle Bore

i

FREZTFENFELE, FIEMIET, RIETRENEE
= RETE

= EEHERS PRI T EERE, XESA TR MR E RiE

= S EFMREM R RERRERNEE, FRARLNRTFHRRESE

= ATFEFEOHIMERS, A MEXIEESRRMREE, NTRETE~E
- FEERANRERS, REMRET; 2RATHENNG, 2RA[TREFFTE

= WA T 2T, UBIESHE, SKEFBLmEE

» BEEHARCN.C.RERSBHRESED, EEaIMESH TENLEMTESH

=

_ \;9

RAE4A Chuck Body

KEERBO'/ PAGE 01 PAGE 02 / KEERBO'



=
W
24
firs
by
R
I
111

KEERBO

| NHZ A= =300van s AP

120° INDEX TYPE AUTO INDEXING CHUCK

1 —RERBEMI2NLALETAL
2. FHHEAERS IR B E10 B, FI1E6X60°E3X120° 5 /&,
3. FMHRES D ERER B -RRERAYHEEEIEL SRS,

¢ B
¢ C(HB)
1
i
1
1
|
1
__]l__
1
N M
b A

6x60° F&H

3x120° %4

-

J

DIMENSIONS
Rst| @A B ache D E F 2G H N K L M N
(mm) | (mm) (mm) (mm) | (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) | (mm)
185 200 15 150 5 32 74 35 M12 12 40 37

NHZ-185 000% 104.8
NHZ-210 210 210 170" 155 6 33 1334 86
NHZ-230 230 248 170"%%® 173 5 35 1048 90
NHZ-280 280 295 170"°%® 200 6 50 1334 110
NHZ-300 300 295 170"°%%° 211 11 565 133.4 825
DIMENSIONS o P BE RmiRE
R~ R Clamping force GD? Max.speed
(mm) (kgf) (kgf.m?) (r.p.m)
NHZ-185 30 785 1.0 2400
NHZ-210 30 785 1.0 2400
NHZ-230 30 1270 1.3 2400
NHZ-280 40 2170 3.6 2000
NHZ-300 40 3500 4.2 1800

KEERBO / PAGE 03

35
55
60

M10
M10
M16
M16

FEHFL

14
15
20.5
25

Main spindle bore

Over 45
Over 45
Over 45
Over 45
Over 55

53 425

58
67
65

==}
Weigt

(kg)

19.5

225
35
65
83

| NHU AZEE T paR S
HIGH SPEED AUTO INDEXING CHUCK

1. ERRIIMN, BRF/IIEIEER;
2HETEHIRRE, B/MTHELEERIRAIS;

3. BRI R EB IS B, AI1E8X45°, 4X90°52X180° 5 F;
AERTFNIHFMESETHE, HEFRESUNIT.

S

7
B

2 25

f

o £

&8 %%
-

NHU - 168
NHU - 180 180 190 150
NHU-235 235 235 200"

7 150+0.02

0% 150 20 5 125

190 25 5 133.4

DIMENSIONS oS T P B
Rt | Max. Max. Clamping force GD?

(mm) (mm) (kgf) (kgf.m®)
NHU-168 30 80 750 0.33
NHU-180 30 80 750 0.33
NHU-235 50 90 1250 1.5

DIMENSI%NT? oA B ache ) E E G H J
(mm)| (mm) | (mm) | (mm) | (mm) | (mm)| (mm)|(mm) | (mm)
168 178 150 20 5 125 49 —

49
85

RREE
Max.speed
(r.p.m)

3000
2800
2300

K L M \
(mm) | (mm) | (mm) | (mm)
2 26

60.5 10.5 5
60.5 12 52 26

14 76 38.5

F4h7L
Main spindle bore Weigt
(kg)
Over 45
Over 45 25
Over 45 44

PAGE 04 / KEERBO



7
B

KEERBO BERERS

INELY aassmEimgRash-i/90° | NHRR &l F$0:30 =85V L &
90° INDEX TYPE AUTO INDEXING CHUCK CENTER CLAMPING TYPE AUTO INDEXING CHUCK

1. —IREEFRBEM T 2T, 1.NHRRREZIUNHR-RE ERM, #H TR S80H;

2 RSB E R R AN 2.NHRREAMR T —LE (=5 EELS MTF OISR I XEE
3. FHEEERT eI EB sho B, AI1E8X45°. 4X90°52X180° 5 ; —EfEE BRI L THO T ERIMER,

47t BFTIEES T TR T @R 3 NHRRESEH-EM s SNHR—EES @

=
W
24
firs
by
R
I
111

4 N\
P -
205 {}
(250) 71
e e | [T I
IO o T ~ |1 : S
o “’L?% 9B <1 9 T2
e e ‘ﬁg — 114 &) 1T |
IR — <« £ |
—[ “ I & U
0.2
6.2 8] B . ©
F K [
E . )
N J
DIMENSI%NT? oA B 6 C D E F G H J K L M N E
(mm) | (mm) (mm) (mm) (mm) [(mm) [ (mm) [ (mm) [ (mm) [(mm)|(mm) | (mm) | (mm)
NHR -200 200 140 150°%° 4-M12 25 5 1048 83 30 76 13 48 44 \_ Y,
NHR -225 225 155 185" 4.M12 25 5 1334 95 36 84 14 58 45 DIMENSIONS| 5 " 5 c " ] < i y
< max.
NHR -250 250 190 210" 4-M12 25 5 1334 106 40 113 20 55 46 Ref| @ G
NHR -280 280 210 210" 4-M16 25 5 1714 120 48 125 205 67 57 Aty | o || e )| s LD AR R R A
’ ’ 40.025
NHR -320 320 232 235%° 4.M16 25 5 1714 1325 51 136 22 875 70 NHRR~-200 200 163 170 4-M12 5 1048 415 28 73 5 31
+0.025
NHR -360 355 240 290" 4-M20 30 5 235 150 50 148 23 103 895 NHRR-225 225 176 170 4-M12 5 1334 475 35 80 6 4
0.025
NHR -420 416 259 290" 4-M20 30 5 235 174 60 160 30 122 106 NHRR-260 260 195 170" 4-M12 5 1334 53 40 79 8 47
N +0.029
NHR =500 500 308 380°°°%2 4-M20M24 35 7 235 205 68 200 35 157 1325 2:2: izg 280 230 21o+0.029 4-M16 5 171.4 60 43 100 8 52
NHR -650 650 415 380°%% 4-M24 40 10 3302 275 90 280 45 214 186 80 2210 AMIE 5 A714 TS a8 14 0 66
10,082 NHRR-370 370 255 290™ 4-M20 5 235 75 48 130 10 81

NHR -780 780 470 380
NHR -890 890 540 520

4-M24 40 16  330.2 325 95 325 45 235 215
8-M26 45 16  463.6 385 95 385 55 320 300

+0.044

DIMENSIONS| . 6S T P BEEE 7L BE QAN Ro ¢S T P e B Ewl £S5
Max. Clamping face Max.speed Main spindle bore | Weigt Max. Max. | Clamping face| G Max.speed | Main spindle bore Weigt

(mm) | (mm) (mm) (kgf) (r.p.m) (mm) ()] (mm) (mm) | (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)

30 40 70 0.7 26

NHR-200 30 50 80 785 0.7 2200(Eh2E) Over 45 20 NHRR-200 1270 2000 Over 45
NHR-225 30 60 100 1270 0.9 2200(Eh 2 ) Over 45 29 NHRR-225 30 60 80 1730 0.9 1800 Over 45 34
NHR-250 30 65 160 1730 1.7 2000(Ep %) Over 45 44 NHRR-260 30 70 90 1730 1.7 1600 Over 45 51
i N I VR e ea50 25 1800(h ) Suanis =0 NHRR-280 30 80 100 2270 28 1500 Over 45 70
NHR-320 30 100 230 2550 5 1200(Eh %) Over 55 73

NHRR-320 30 100 130 3140 5 1200 Over 55 90
NHR-360 30 135 240 2550 8 1200(Eh ZE) Over 55 105 NHRR_37 0 130 130 3140 o 1200 120
NHR-420 30 180 260 3530 15 800(EpZ£),1000(s1 %) Over 55 146 -370 3 Over 55
NHR-500 30 220 310 4670 25.4 800(3z %) Over 55 230
NHR-650 30 300 400 6150 36 500(37 %) Over 55 410
NHR-780 30 330 450 6880 38 500(sz %) Over 55 660
NHR-890 30,60 400 500 6880 39 400(37 %) Over 55 830

KEERBO'/ PAGE 05 PAGE 06 / KEERBO'



=
W
24
firs
by
R
I
111

KEERBO

| NHRS =G SENE RS TEN
ADDITIONAL ANGLE TYPE AUTO INDEXING CHUCK
1.NHRSRAEAILA4x90°H ERINIAIGIR 73°,4°, 5° BN E;

2 EM—IREEXRE AT INT4MELLE.

3.NHRSREERRM, EZEHNSNHR—FS1E.

300
145
— =
I - < v-——— 4
2 o =)
N L8] —
A T
LTI T T2
0.2 &g
6.2
DIMENSIONS oA ¢CH oG Lmax.
(mm) [ (mm) (mm) mm) (mm) [ (mm) (mm (mm) mm) (mm) | (mm) (mm

NHRS-360 290092 4-M20 5

QUENSIOS i R P Bt | memE L B8
BAER | BAKE | Clampingforce | GD°, | Max.speed | Mainspindie bore | Weigt

(mm) (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)

NHRS-360 135 220 2550 8 1200 Overs5 105

KEERBO'/ PAGE 07

PERERY

| NHRP A:=ERCicibaklnibaRS=7EIk
HIGH CLAMP TYPE AUTO INDEXING CHUCK
1.NHRP-RE1ER T I T EHRAAMH<IHSEA T4 /:5

2. NHRPREZFRHEEBFEFX, OIREREEARIEFN.
3.NHRPREZE#HR/N, EZESLSNHR—EIIE.

BHEEF*
Hid/Low Switch Screw

¢ A

|
u
-1
ENE
._!
"

DIMENSIONS bA 6G L.
(mm) (mm (mm) (mm (mm) [ (mm) (mm (mm) (mm) mm) (mm)

NHRS-260 260 2100 45 133.4 6-M12

DIMENSIONS TH I# e REEE 47l =8
BRER | BXKE Clamplng force | GD”, | Max.speed | Mainspindle bore | Weigt

(mm) (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)

NHRS-260 135 ?ggg 2.5 1200 Over45 55

PAGE 08 / KEERBO'



KEERBO DE

7
B

2 25

=
W
24
firs
by
R
I
111

INELEOY amsEedaninki/90° NHRL AZE e YAl

THRUST LOAD TYPE AUTO INDEXING CHUCK 180°INDEX TYPE AUTO INDEXING CHUCK —

T.NHRLREA L2 180°HFE;
2 B H—IREEF R AT AT 2N E.
3.NHRLEEERRIN. EZHLSNHR—HESE.

1.NHRDZEFNHRREY B THUOEMIAE, BRI
1TEEFLIN TR EAERE;

2.NHRDREZSZE/I8x45° » 4x90° ;

3.NHRDREZE#F/N, EEHNENHR—ESE.

[y
e
|
firs
oy
R
=
Il

|
ST
P4
—~ =
@ g T o | <
: o/l o O o o
9 | ¢ a
= /’\/ s
B c i Y o
a} --:j—& W‘Tp/l':
— —i_ -
E K J
K B j K . j
DIMENSIONS
DEERG| oA | B | ec® | E F %6 | H K L1 h i
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
+0.025
NHRD-225 225 155 1857 5 35 1334 96 4-M12 145 HRL-400 I Ut D 235 135 e
DIMENSIONS P R e iRE FH7L BE
- M N Clamping force GD? Max.speed | Main spindle bore We;;;;t DIMENSIONS @
(mm) [ (mm) | (mm) (kgf) (kgf.m?) (r.p.m) (mm) (kg) Rt K L M N R a b c
NHRD-225 15 48 455 30 1270 0.9 2200 Over 45 29 (mm) (mm) (mm) () () () () ()
HRL-400 130 4~16 112 100 30 100 38 28

B 151 BeEE | il | B2
Clamping face GD? Max.speed Main Weigt
(kgf) (kgf.m?) (r.p.m) (mm) (kg)

4000 16 1400 Over 55 152

D'MENS'%N_? Re | IHEXRER | ITHRAKE
: Maximum Diameter [ Maximum length

(mm) (mm) (mm)

30 170 190

HRL-400

KEERBO'/ PAGE 09 PAGE 10 / KEERBO'



KeEERBO I eyl

| NHRF AEE a3 960%

AUTO INDEXING CHUCK (SIGNAL INDUCTION) B E NS EEFEENBEaTE
DB ESNAMEEHITZ g 545 =

O THHFEHEH, fEFE10° Wi, TRAABEHE
zh5° , BAREMNFEN (WEFRR) ;

O EH — M HRITEHOARIMERN F&;

O NEREFIME R XN FEIR;

OEEENMMBERIL: 0.03mm.

1.NHRFE&2THENERNESSEH,
2.NHRFE£8] A8 x45°,4x 90°5) [E;
3.NHRFE&EERRMN, EEANSENHR—ESE.

— |
[N
hte
2
4
3
e
< 8lu
| O]
©
B
DIMENSIONS CH6 ® G e
(mm) [ (mm) | (mm) [ (mm) |[(mm)|(mm)| (mm) [ (mm) mm) (mm)| (mm) | (mm) [ (mm)
HRF -225 5002 4-M12 5 133.4 925
HRF -250 250 195 210"%° 4-M12 5 58 133.4 105 40 105 17 58 43
HRF -315 315 245 220"°%° 4-Mi16 5 78 171.4 130 50 135 23 80 64
HRF -400 400 280 300"%° 4-M20 6 78 235 170 60 160 27 119.5 104
HRF -500 500 328 380"°%% 4-M24 6 78 3302 205 68 200 34 154 135
HRF —-630 630 405 380"°%2 4-M24 6 78 3302 265 85 260 45 205 192
HRF —800 800 460 380'°%% 4-M24 6 78 3302 310 85 300 55 275 260
D'MENS'ONS ¢ S T B iR FHFL BH=E
Max Clampmg face GD22 Max.speed | Main spindle bore Weig;t
(mm) (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg
HRF —225 1250 0.31 2500 45 35
HRF —250 30 65 160 1700 0.45 2200 45 52
HRF -315 30 100 230 2500 1.36 1800 55 95
HRF —400 30 170 260 3500 3.8 1250 55 150
HRF —500 30 220 310 4600 10 900 55 250
HRF —630 60 300 380 5500 30.5 700 55 450
HRF —800 60 350 450 7400 66 500 55 580

KEERBO'/ PAGE 11 PAGE 12 / KEERBO'



KeEERBO RSB R

KWT &=ditbskink: RS

2 JAW SWING LOCK CHUCK

W =msEnizminE-fs
3 JAW SWING LOCK CHUCK

EhESE2MFBM-RRIEE EAFHEIIREaNEUEBMMEFEIT
2 HIEESES R
o T REFEHI, BERE10°HEER, MELEEHIERNS, EBREN
®EH WEFR)
OJ‘_ﬁ—ﬂJ%ﬁ%E’J*EF"DT *MERYRR;
REEIMIREENGEIR;
SEMBERNA: 0.03mm.

KWT3E 0 F e~ TTTURIKW.

( H M ( \
= - i =
- el AT < reE e
2. R_, Q — = R_ Q HUL — oz 2
” =Ny T = i
# T e | ip

o

DIMENSIONS bA 6C DIMENSIONS bA 6C
(mm) (mm) (mm) mm) (mm) mm) (mm) (mm) (mm () (mm (mm) (mm) mm) (mm) (mm mm) mm)

KW —-06 104.8 5 3-M10 14.3 202 KWT -06 104.8 5 4-M10 14.3 222
KW -08 200 88 170 133.4 5 3-M12 19.3 89 25 KWT -08 200 88 170 133.4 5 4-M12 19.3 89 25
KW -10 254 105 220 171.4 5 3-M16 24.5 112.8 30.2 KWT -10 254 105 220 171.4 5 4-M16 24.5 112.8 30.2
KW —12 300 105 220 171.4 5 3-M16 24.5 133.3 50.7 KWT -12 300 105 220 171.4 5 4-M16 24.5 133.3 50.7
KW -15 381 120 300 235 6 3-M20 29 171.15 69.85
KW —-18 457 126.5 380 260 6 3-M24 29 209.65  108.35
KW —21 126.5 330.2 6 3-M24 146.7 DIMENSIONS

DIMENSIONS (mm) (mm) (mm) (mm) (mm (mm) mm) (mm) (mm)
ar-i ro-a e W w w % we = mw o
KW'=08 81 84 15 54 44.45 % 20~ 34 80 M18 KWT —12 110 445 19 64 57 70 20~375 38 M22
KW -10 100 44.5 19 64 57 70 23.5~ 41 35 M22
KW —12 110 44.5 19 64 57 70 20~37.5 38 M22
KW —15 140 54 24 74 66.7 80 29.6~ 52 40 M24
ESHIE 140 54 24 oy €6.7 S S e oo DIMENSIONS KH 35 EE(R |NGREE) BEORE| Bxin | EXBxi) | AEREDS | oe
KW —21 170 54 24 66.7 16.4~38.7 Gripping Range Plunger Stroke | Jaw Stroke Matching Cylinder

JlilE oy L HETRE |MTEER) | REEEE a‘ﬂﬂ] rka%x%#ﬁ REWELNS | =R 5hE(mm) R (mm) (DIA.mm) | (min" (KN) (KN) (ko)
4ME(mm) K (mm) (DIA.mm) m|n'1 ) (KN) KWT -08 $16~ $152 ¢ 76~ ¢ 203 14.2 9.5 3500 32 96 B_R1225 23.7

KW -06 ¢127~ $120 ¢70~ ¢ 152 11 4 4000 B-R1225 14.8 KWT -10  ¢50~ $203 ¢85~ ¢$235 175 12.7 3200 40 123 B-R1530 39.5
KW-08  ¢16~¢152 676~ $203  14.2 9.5 3500 32 9% B-R1225 23.7 KWT -12  ¢63~ ¢241 ¢127~$305 175 12.7 2500 40 123 B-R1530 58.5
KW -10  $50~ $203 ¢85~ ¢235  17.5 12.7 3200 40 123 B-R1530 39.5
KW —12  $63~ 241 ¢127~ $305  17.5 12.7 2500 40 123 B-R1530 58.5
KW -15  $78~ $310 ¢170~ $380  22.4 15.8 1800 54 165 B-R2035 95.2
KW —18  $90~ $390 ¢245~ $455  22.4 15.8 1500 55 166 B-R2035 145
KW —21  ¢165~ $470 ¢320~ $530  22.4 15.8 1000 56 167 B-R2035 180

KEERBO'/ PAGE 13

PAGE 14 / KEERBO'



KEERBO

| BW shabmib g S

HOLLOW SWING LOCK CHUCK
~EAFOEES MRERIKW-REE

IR FRRY

DIMENSIONS  C(HS)
(mm)

BW254 101.5 220 55 3-M16 171.4 19.3 111
BW275 275 102 220 80 5 3-M16 185 19.3 123.5

DIMENSIONS U
Rt
(mm) (mm) (mm) (mm) (mm) (mm) (mm) mm) (mm) (mm)
BwW254 110 44.45 17.5 -5~95 M60 x 2P
BW275 110 34 20 51 44.45 17.5 60 -45~10 28 M82 x 2P
DIMENSIONS FHBE TR SeE®EE| SAH =8
R~ Gripping Range Plunger Stroke . . ! ing Cylinder | Weight
5ME(mm) A& (mm) (mm) in (kg)
BW254 $50~ $203 ¢85~ $235 14.5 10 3000 40 123 BS1552 35
BW275 $63~ $220 ¢ 127~ $270 14.5 10 2500 40 123 BS1552 41

KEERBO'/ PAGE 15

IR RERY!

| SW AR IE GRS

SELF-CENTERING COMPENSATION PULL BACK 3 JAW CHUCK
o [HEBTNICENR, EREIMSRISH

o REMIRBTEREESTFEXIE, RAKWEE, BREBEMRIERSS;

e BUNIME o BER-REXE.

f BEMER \
-AEHEM:
BT EBEEASERIH,
6a8H, BF—FHZ F M
3
e .
’ BAEAR: N
AT EHEMINMER,
EERUEES,
S Ll e L L
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
SW-05 135 110 30.5 5 82.6 3-M10
SW-06 173 88 140 28 5 55 104.8 50 36 25 6-M10
SW-08 212 105 170 34 5 64 133.4 60 38 25 6-M12
SW-10 254 112 220 70 5 82 171.4 70 48 30 6-M16
SW-12 315 112 220 75 5 107 171.4 70 48 30 6-M16
SW-15 390 132 300 85 5 130 235 80 75 30 6-M20
SW-21 535 138 380 85 6 190 330.2 80 75 30 6-M24
SW-24 155 150 6 330.2 100 6-M26
RN Q1(h8) | Q2(H7) | Q3(h7)
(mm) (mm) mm) mm) (mm) (mm mm) (mm) (mm) (mm) (mm)
SW-05 ~16 6.35 7.94
SW-06 16 M10 125 7.5~28.5 7.94 12.68 52
SW-08 17 M12 M10 38 32 18 7.5~325 12.68 12.68 9 5.2
SW-10 18 M12 M10 44.4 36 25 0.5~25.5 12.68 19.03 12 5.4
Sw-12 18 M12 M10 44 .4 36 25 12.5~37.5 12.68 19.03 12 5.4
SW-15 26 M16 M12 63.5 48 52 10~40 12.68 19.03 12 4.7
SW-21 29 M16 M12 63.5 48 52 5~35 12.68 19.03 12 4.7
SW-24 M16 63.5 54 72 4 ~36 12.68 19.03
DIMENSIONS M RTE FHRMETE | BABEAH BAE#EAH) | Z=EHE Wigh
(mm ) (mm) (mm) | Jaw stroke R PIung((re:I nf;roke Max. P;:\Il Force | Max. fbrlsagrdgljorce Ma);n ipe)Ed iu: t
SW-05 M20x1.5 5° 16 6000
SW-06 M28x1.5 55 5.2° 21 4000 15
SW-08 75 10 M32x1.5 65 5. 20 25 25 60 3500 27
SW-10 80 12 M38x1.5 72 5.4° 25 40 96 2800 41
SW-12 80 12 M38x1.5 72 5.4° 25 40 96 2500 66
SW-15 105 12 M60x1.5 100 4.7° 30 50 120 1800 115
SW-21 105 12 M60x1.5 100 4.7° 30 60 150 1500 196
SW-24 127 12 M80x2 116 5° 32 100 180 1200 386

PAGE 16 / KEERBO'

BIRRRRT




KEERBO

BEOMEMR BRI = MEE

SELF-CENTERING COMPENSATION PULL BACK 2 JAW CHUCK
o SWTHFRESWIER

— |
e N
i
4e !
:WE M2 M1 r\sow
=5 f © g
2 [ s -AFBE:
X BT ZHSBTLIL,
[ < 656, AF-FNIANI;
CRAN
i L
L[
& o)
. ¢ o
I ——
ol & n P N
g0 ' BT N
AFRBEN THHEE,
EERLREE.
DIMENSIONS C(G7) | D(H8)
mm) mm) (mm mm) (mm) mm) (mm mm) (mm) mm) (mm mm)
SWT-08 133.4 25 6-M12 17
SWT-10 254 112 220 70 5 82 171.4 70 48 30 6-M16 18
SWT-12 315 112 220 75 5 107 171.4 70 48 30 6-M16 18
DIMENSIONS Pmax. | Pmin. | Q1(h8) | Q2(H7)| Q3(h7) | R°
mm) (mm) (mm) (mm) (mm (mm) (mm (mm) (mm) (mm (mm)
SWT-08 32.5 12.68 12.68 5.2
SWT-10 M12 M10 44.4 36 25 25.5 0.5 12.68 19.03 12 5.4
SWT-12 M10 44 .4 37.5 12,5 12.68 19.03 12 5.4
DIMENSIONS o | BUEMATE | SXEHA | BAXEHIN | REEEE | 28
FHRTE PIunger Stroke | Max.Pull Force | Max.Gripping F°r°e Mex.Speed | Weight
(mm (mm) (mm (mm) | Jaw stroke R’ (mm) ) ( Abstand H) (KN) (min’) (kg)
SWT-08 10 M32x1.5 4000 27
SWT-10 80 12 M38x1.5 72 5.4 25 27 66 3500 38
SWT-12 80 12 M38x1.5 72 5.4° 25 27 66 2600 66

KEERBO'/ PAGE 17

IR RERY!

| SPW A& EETERS

COMPSATION TYPE SWING LOCK 3 JAW CHUCK

o [HEREFNSAN, FEREBTIRISE,

o REMFHINEPTHRIMEPLTIAAKIIE, RAKEE, iR
= ’%E%Dtﬁﬂ’ﬂﬁﬁﬁ%ﬁ ;

e HUIMME o BEEB-REKRE.

-

sﬁﬁﬂ, BF-FH_FNI;

A

- "~

-BRAIEF:
RTRBEMIZHER,
EEROBEE,

AN

NG J

DIMENSIONS
‘ C(G7) | D(H8)
!!E.h;l!ll!lI!Il!ll!ll!ll!ll!ll!ll!ll!l

SPW-05 135 70 110 30.5 5 42 82.6 3-M10
SPW-06 173 88 140 28 5 55 104.8 50 36 25 6-M10
SPW-08 212 105 170 34 5 64 133.4 60 38 25 6-M12
SPW-10 254 112 220 70 5 82 171.4 70 48 30 6-M16
SPW-12 315 112 220 75 5 107 171.4 70 48 30 6-M16
SPW-15 390 132 300 85 5 130 235 80 75 30 6-M20
SPW-21 535 138 380 85 6 190 330.2 80 75 30 6-M24
SPW-24 6 330.2 100 6-M26
DIMENSIONS Q1(h8) | Q2(H7) | Q3(h7)

(mm) (mm) (mm) (mm) mm) mm) (mm) ()] (mm) (mm) (mm)
SPW-05 ~16 6.35 7.94
SPW-06 16 M10 M8 32 24 12.5 7.5 285 794 12.68 9 5.2
SPW-08 17 M12 M10 38 32 18 75~325 12.68 12.68 9 5.2
SPW-10 18 M12 M10 44.4 36 25 05~255 12.68 19.03 12 5.4
SPW-12 18 M12 M10 44.4 36 25 125~37.5 12.68 19.03 12 5.4
SPW-15 26 M16 M12 63.5 48 52 10~ 40 12.68 19.03 12 4.7
SPW-21 29 M16 M12 63.5 48 52 5~35 12.68 19.03 12 4.7
SPW-24 29 M20 M16 63.5 54 72 4~ 36 12.68 19.03 12 5

PAGE 18 / KEERBO'

BIRRRRT




KeEERBO RSB R

| SPW A& CEs5 RS | SPWT A& =Es:20md) 857

COMPSATION TYPE SWING LOCK 3 JAW CHUCK COMPSATION TYPE SWING LOCK 2 JAW CHUCK

o [HEREFNSAN, FERERTIRISH, * SPWTHIFRSSPWIER
o REMFHINEPTHRIMEPLTIAKIIE, KAKEE, iR
= ’%E%DKE’J@FH%@ ;

o BLIME;, o EAE-REKXE.
- s N 4 -
IQ) 2h % B IQ)
& _ . h&
& .T \ % @;@ ] ﬁE
A — - T H M2 M1 e
e ! ; A _ 3
L 9 A © b
* 3 E=d oo Qo [ AESE T , i
-1+ F=1"rt+r=+1 -+ ——- i . AT % HTEARTRIH,
3 O 6 A8, BF-FHAN
0 y CRAN
DERIRESERML; I = ' o— - ]
— i égﬁzﬁgﬁgxiﬁﬁzﬁﬁﬁr f?ilf#fl‘jqﬂ* LTRE, XHEIHASE Y /
B, MITHROMEOEERT, = $$ - S $$3o°
_ © o1 e\ [of ¢
= G . | - - —]
~ o |{////,;/////7,,, e e |
s o0 s N
DIMENSIONS ' / ~ I —
EEEOHRER,
mm) (mm) (mm) (mm) (mm (mm) mm) \ /
SPW-05 M20x1.5 225
SPW-06 60 9 M28x1.5 55 11 62 35
SPW-08 75 10 M32x1.5 65 14 67 46 DIMENSIONS C(G7) | D(H8)
SPW-10 80 12 M38x1.5 72 16 68 60 (mm (mm) | (mm) (mm) (mm) (mm) (mm mm) (mm) mm) (mm) (mm)
SRl o2 2 VDS 120 i3 95 116 SPWT -10 254 112 220 70 5 82 1714 70 48 30 6-M16 18
SPW-21 105 12 M60x1.5 100 20 95 116 SPWT -12 315 112 220 75 5 107 1714 70 48 30 6-Mi6 18
SPW-24 12 M80x2 116 95 116
Py Ep—— = DIMENSIONS
OWENSONS | e mamirie | BHEEEEE | Bxmin | Bxken) | mEmE EE R Qihe) | Q2(H7) | Q3(h7)
it Plunger Stroke | Max.Pull Force | Max.GrippingForce | Max.Speed Weight (mm) (mm) (mm) (mm) mm) (mm) (mm) (mm) ( m) (mm)
NEWY stroke (mm) (KN (Abstand H) (KN) (min™") (k9)
SPW-05 16 6000 4.5 SPWT -08 7.5~325 12.68 12.68
SPW_06 5_20 o1 18 4 4000 15 SPWT -10 M2  M10 444 36 25 0.5~25.5 12.68 19.03 12 5.4
SPW-08 5 0 o5 o5 60 3500 o7 SPWT -12 M2  M10 444 36 25 125~37.5  12.68 19.03 12 5.4
SPW-10 5.4° 25 40 96 2800 41
SPW-12 ° 25 40 96 2500 66 D”V'ENS'ONS b | REBHETE | BRAERSN | BREENH @ﬁ%
5'40 wijwe| x | FRUEAE PIunger Stroke Max.Pull Force | Max.Gripping Force d We|ght
SPW-15 4.7 30 50 120 1800 115 (mm){(mm)| (mm)_{(mm)|(mm){(mm)|(mm) | Jaw stroke K (mm) ) (Abstand H) ( KN) (min”) (kg)
SPW-21 4.7° 30 60 150 1500 196 SPWT -08 75 10 M32x1.565 11 62 35 5.00 4000 27
SPW-24 5 32 100 180 1200 386 SPWT -10 80 12 M38x1572 14 67 46 5.4° 25 27 66 3500 38

SPWT -12 80 12 M38x1572 16 68 60 5.4° 25 27 66 2600 66

KEERBO'/ PAGE 19 PAGE 20 / KEERBO'



—
e
W
24
firs
[
#h

KEERBO

| BU AGreg:g3+

PULL BACK 3 JAW POWER CHUCK

o BUBHIH=M-ER/SBUTER ZM-EE2RTER,
o BUBH X FEERTNIEEESFITEEERN T4 X RRESTERR
o TERARE T4t REFIRE-RRNAT A,
o ESFEMMEERIA: 0.02mm.

4 R

$C(HB)
’K:H \
ol

oA

|
L
sl
A1)
|
|

\_ J
DIMENSIONS | A B |c@G7) | D E F G H | J K
(mm) [ (mm) | (mm) (mm) (mm) [ (mm) | (mm) (mm) (mm) [ (mm) (mm)
BU-04 110 60 60 80 5 3-M8 14 M10 x 1.5P 18 20 12 ~20
BU-05 130 70 80 100 5 3-M8 14 M12 x 1.75P 24 25 17 ~25
BU-06 165 85 140 104.8 5 6-M10 16 M16 x 2P 24 36 23 ~33
BU-08 210 95 170 133.4 5 6-M12 18 M20 x 2.5P 18 36 28 ~38
BU-10 254 110 220 171.4 5 6-M16 22 M24 x 3P 24 46 32 ~47
BU-12 304 125 220 171.4 5 6-M16 24 M24 x 3P 24 50 32 ~47
BU-15 371 130 300 235 6 6-M20 30 M30 x 3.5P 24 43 51 ~71
DIMENSIONS | L M N o) P Q R z1 22 z3
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
BU-04 26 19.5 25 — 36.6 ~39.5 50 20.5~28.5 25 — 3-M6
BU-05 28 24.5 30 = 41.8~44.7 56 28 ~ 36 30 — 3-M6
BU-06 32 30 35 — 54.8~58.4 70 35~45 35 20 6-M6
BU-08 38 41 40 26 67.2~70.8 84 46 ~ 56 45 25 6-M8
BU-10 50 46 50 32 79.6 ~85 100 50~65 55 30 6-M8
BU-12 50 51 60 36 96.55 ~ 102 120 55~70 70 35 6-M10
BU-15 5 36 126.72~134 150 57 ~77 6-M12

3500 6

0 45
DIVENSIONS | 1 f778 |[VTR(EE) | BEERE| BALA | BABEED| wpucws | x#pg | BEEREN | 58
R \piunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force Mnt h‘l Cli‘ der | Gripping Range Max.Pressure | Weight
(mm | (OIAmm) | (min) (kgf) (kgf) el R (Mpa) (ko)
8 5.8 00 2.2 4.5
2.2

BU-04 . 1350 K-Y0615 15~90 .
BU-05 8 5.8 3500 1000 2000 K-Y0815 15~130 7.5
BU-06 10 7.2 3500 1500 2500 K-Y1020 30~160 2.2 15
BU-08 10 7.2 3000 2500 4500 K-Y1225  40~210 2.5 26
BU-10 15 10.8 2500 3500 6000 K-Y1225 50 ~254 3.3 45.5
BU-12 15 10.8 2000 4500 7500 K-Y1530 74 ~304 3 70
BU-15 20 14.56 1800 5500 9000 B-R2035 85~370 2.5 104.5

KEERBO'/ PAGE 21

IR RERY!

EHiztiHE= M

PULL BACK 2 JAW POWER CHUCK
e BUTHI%FR5BUEE

4 R I
M —J
R
o h&
. . s
<3 P e B o 4
© -
J K _— 1/“/ { | | #
o
AT N #p
]
J = FH——
H gw =
i
5 L
\ B z2 Z1 /
DIMENSIONS
R~ A B C(G7) D = F G H | J K
(mm) | (mm) | (mm) [ (mm) | (mm) (mm) (mm) (mm) (mm) [ (mm) (mm)
BUT-06 165 85 140 104.8 5 6-M10 16 M16 x 2P 24 36 23 ~ 33
BUT-08 210 95 170 133.4 5 6-M12 18 M20 x 2.5P 18 36 28 ~ 38
BUT-10 254 110 220 171.4 5 6-M16 22 M24 x 3P 24 46 32 ~ 47
DIMENSIONS L M N o) P Q R z1 2 z3
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
BUT-06 32 30 35 — 54.8 ~58.4 70 35~45 35 20 4-M6
BUT-08 38 41 40 26 67.2 ~70.8 84 46 ~ 56 45 25 4-M8
BUT-10 50 46 50 32 79.6 ~85 100 50 ~ 65 55 30 4-M8
DIMENSIONS | £ /78 |MTR(ER) | RS EEE| JAHA BABEREN | ppwome | ReEREN | ER
Rt | piunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max Gripping Force M;tchiln Ovinder | Gripping Range | Max Pressure | Weight
mm | OAmm) | (mnl) | (k) (kg) o i) (Mpa) | (9
BUT-06 10 7.2 2500 1000 1600 K-Y1020 30 ~ 160 2.2 14
BUT-08 10 2200 1700 2800 K-Y1225 40 ~ 210 2.5 26
BUT-10 15 10.8 1800 2500 4000 K-Y1225 50 ~ 254 3.3 42

PAGE 22 / KEERBO'



—
e
W
24
firs
[
#h

KEERBO

| BUE Acoeigi:lig35

INSIDE DRAW DOWN POWER CHUCK

o LREHRSINTYREA ISR ENEERNTATER

£/, ~MEeEX
o RERITERENTRENN TS 7h T4
o EEFBEAIA: 0.02mm.

-

dA

& C (H7)

DIMENSION
SO S C(G7)
mm mm mm mm mm mm mm mm mm mm mm

BUE-05

BUE-06 165 140
BUE-08 210 95 170 38
BUE-10 254 110 220 50
BUE-12 304 125 220 50

DIMENSIONS
mm mm mm mm mm mm mm mm mm mm

M12x1.75 3-M6

BUE-05 24 5

BUE-06

BUE-08 84 41 26 18
BUE-10 100 46 32 22
BUE-12 120 51 36 24

DIMENSIONS BEFRE |NMTEER) | REEERE| SAHA RABEEN BRI S
p|unger5roke Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force, M:tchiln Cﬁder Gri
(rmm) (DIAmm) | (min™") (KN) (KN) o (mm

BUE-05 5.8 5000 11.7
BUE-06 5.8 5000 14.7
BUE-08 10 7.2 4500 245
BUE-10 15 10.8 4000 34.3
BUE-12 15 10.8 3500 441

KEERBO'/ PAGE 23

g oo or;,

40
50
60

6 M10
6-M12
6-M16
6-M16

104 8
133.4
171.4
171.4

246~27.5
35~37.9
43~46.6
28 ~36
28 ~36

22,5
245
441
58.8
73.5

34 42
45~55
50~ 65
55~70

50 25
50 30
70 40

36
46
46

23 31

25~35 15
32~47 22
32~47 22

M16 x 2 6-M6

R

ipping )Range
B-R0715 20~110
B-R1020 40~140
B-R1225 48~180
B-R1225 65~220
B-R1530 80~270

M20 x 2.5 6-M8
M24 x 3 6-M8
M24 x 3 6-M10

BEEAES) | 2R
Max.Pressure | Weight
(Mpa) (ko)
2.2 8

3.5 26

3.1 43.5
3.1 68

IR RERY!

| KU Abs:isd=ass

OUTSIDE PIN ARBOR 3 JAW POWER CHUCK
o MEERIREBPIL2M, 3TFIH2N, 3TAHiERE;

o MFERFRERTINDREEM. EERMFHTEEER

TR TR R RRIAI A,

o ESFUMBERNA: 0.025mm.

4 N

OF (G7)

BIRRRRT

op

DIMENSIONS F(G7)
mm) (mm) (mm mm) (mm (mm (mm mm) (mm (mm

1.5~25
KU—04 110 72.5 100 55 43 85 70.6 3—M10 4 9.25~10.75
KU-05 135 84.5 135 63 51 110 82.6 3-M10 4 11.75~13.25
KU-06 165 115 155 77 65 140 104.8 6-M10 5 13.75~ 16.25
KU-08 210 135 180 90 70 170 133.4 6-M12 5 13.75~16.25
KU-10 254 150 230 100 82 220 171.4 6-M16 5 18.75~21.25
KU-12 171.4 6-M16 5 43.75~ 46.25
Ll -IIIII-IIII
R~
(mm) (mm) | (mm) (mm) (mm (mm) (mm) (mm) [ (mm) [ (mm) [ (mm)
KU-03 17.5~215 3-M6 M10x 1.5
KU-04 13~19 17 20 3-M6 18 12 M20 x 1.5 24 — 9.5 32
KU-05 17 ~23 20 24 3-M8 23 12 M25 x 1.5 30 — 13 41.5
KU-06 1~11 30 30 3-M10 26 12 M28 x 1.5 31 49 17 47
KU-08 1~11 35 35 3-M12 32 15 M35 x 1.5 30 51 20.5 62
KU-10 2~ 12 40 40 3-M14 35 15 M38 x 1.5 30 51 23 72
KU-12 ~12 45 3-M14 M45x1.5 30 51 23 72
DIMENSIONS rErE MTEER) E‘iﬁ@?ﬁ. RAHS BABRRN | gpweons | EHGE BEERES | 28
Plunger Stroke | Jaw Stroke | Max. Speed Max.Pull Force | Max.Gripping Force M;tching Gylinder | Grioping Range Max.Pressure | Weight
(mm) (DIA.mm) m|n (KN) (KN) (mm) (Mpa) (kg)
KU-03 2 10000 5.8 16.7 K-Y0615 4~32 2.06 1.5
KU-04 6 3 7800 10 28.4 K-Y0815 10~ 60 2.06 4
KU-05 6 3 7800 14 39.2 K-Y0815 15~ 84 25 6.6
KU-06 10 5 6500 17.7 57.9 K-Y1020 25~100 2.55 14.2
KU-08 10 5 5500 25 79.4 K-Y1225 25~130 25 24
KU-10 10 5 4200 35 99.5 K-Y1225 35~ 160 3.35 42.2
KU-12 10 5 3200 35 99.5 K-Y1225  85~210 335 605

PAGE 24 / KEERBO'



KeEERBO I eyl

RS BRI MR i | PUE ACGEActii oase
OUTSIDE PIN ARBOR 2 JAW POWER CHUCK ‘ -\ : INSIDE PIN ARBOR POWER CHUCK

o KUTHHF = 5EKUERE o BT HMEERAMAUERDNXE, RHEEGBIHTEMF
EIEmAIThEE;

o FFRENFNEEANEEENROENLBEERMNO I

o EEEMFBERIX: 0.025mm.

A 4

0A
0C(GT)

OF (G7)

—
e
W
24
firs
[
#h

BIRRRRT

ly

op

PUE-05

1 S
k R L 1? i
f e B | =
- M — j
= g = ! } TEF-1=
s g s g
DIMENSIONS F(G7) 2 l__m—;u/ |
(mm (mm) mm) (mm) (mm) (mm) | (mm) (mm) (mm) (mm) (mm) i
e e e
KUT-06 165 115 155 140 104.8 6-M10 13.75~16.25 EH—=F—- -
KUT-08 210 135 180 170 133.4 6-M12 13.75~16.25 = i
KUT-10 254 150 230 100 82 220 171.4 6-M16 5 23 18.75~21.25 |l|

=

B
k PUE-06, 08

DIMENSIONS
(mm (mm (mm (mm) (mm) (mm) mm) (mm) (mm) (mm (mm) DIMENSIONS C(G7)
KUT-06 1~11 M28 x 1.5 (mm (mm) (mm) | (mm) (mm mm) (mm) (mm (mm (mm) (mm)

KUT-08 1~11 35 35 3 M12 M35 x 1.5 51 205 PUE-05 135 110 5 82.6 M16 M10
KUT-10 2~12 40 40 3-M14 35 15 M38 x 1.5 30 51 23 72 PUE-06 165 115 140 104.8 M18 ~17 M10
PUE-08 215 143 170 113 1334 M20 1.5~115 18 M12
DIMENSIONS
DIMENSIONS HEAE |MTEER) | REREHE| =LHA BABERN | wmwmmo Sty BaEfREh | EE
p|unger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force f ﬁﬂ.‘mﬁl%‘? Gri;ti#r? IEFEn g MaT.Pressure Weight (mm mm) (mm (mm) | (mm) mm) (mm) (mm mm) (mm (mm)
o Matching Cylinder | GrIPPING Rang k0
(mm) (DIA.mm) (min") (kgf) (k) (mm) (Mpa) 9 PUE-05 12~18 33~34.4
KUT-06 5 6500 1300 4000 K-Y1020 25~100 2.55 13 PUE-06 28 ~38 44.5~46.9 31 M6
KUT-08 5 5500 1700 5500 K-Y1225 25~130 25 20 PUE-08 18 ~28 78.75~81.05
KUT-10 10 5 4200 2400 7000 K-Y1225 35~160 35 = - =
3.8 DIVENSIONS | (772 [T (EE) BEERE) BAH) [ BAWRES| wouows | wiem | BAEAE. | =8
PIunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force Matching Cvlind anplng Range Max.Pressure | Weight
(mm | (OIAmm) | (min’) (KN) (KN) ehing Lyincer ) )
PUE-05 2.8 6500 13 38 5 B-R0715 65 ~ 80 1.9 7.5
PUE-06 4.6 5500 18 B-R1020 70~105
PUE-08 10 4.6 3500 20 59.6 B-R1225 95~155 2.5 30

KEERBO'/ PAGE 25 PAGE 26 / KEERBO'



—
e
W
24
firs
[
#h

KEERBO

| PU Lknsligas

HOLLOW OUTSIDE PIN ARBOR 3 JAW POWER CHUCK

o MMERXFHERABA LN, 3MAFZ2 N, 3/MalftikiE;

o RIFXEH FEERATNIInEEM. EEENFTEEE

KT HEEARAR TR REE R KR FA;
SEMBERXL: 0.025mm.

P A

Al

o J

DIMENSIONS Cc(G7)
(mm (mm (mm (mm) (mm) (mm) mm) (mm (mm) | (mm) (mm)
5

PU-206 165 155 65 140 20 5 104.8 123.5
PU-208 210 180 170 133.4 143 205
PU-210 254 230 82 220 1 02 26 5 171.4 158 23 72
PU-212 304 240 82 220 134 26 5 171.4 163 23 100
DIMENSIONS
(mm) (mm) (mm) | (mm) (mm) (mm) (mm) (mm mm) (mm)
PU-206 10 10~20 13.75~16.25 -1~9 M33x 1.5
PU-208 M12 10~20 62 35 13.756~16.25 -1~9 77 M45 x 2 29.5 34
PU-210 M16 14~24 72 40 18.76~2125 -1~9 92 M62 x 2 35.5 39
PU-212 M16 9~19 72 40 43.75~46.25 -1~9 117 M92 x 2 35.5 44
DIMENSIONS HEAR |MTEER) | SSEEE| SXHN BXBEEN | pmwons | 3 BaEAEH | ER
PIungerSroke Jaw Stroke Max Speed Max.Pull Force | Max.Gripping Force Matching Cvling - Max.Pressure | Weight
OAMM) | (min” (KN) (KN) alching Lyinder (Mpa) (ko
PU-206 10 5 6500 17.7 57.9 K-Y1020 25~100 2.5 145
PU-208 10 5 5500 24.5 79.4 K-Y1225 25~130 24 25.5
PU-210 10 5 4000 34.5 99 K-Y1225 35~160 3.3 43.5
PU-212 10 5 3100 34.5 99 K-Y1225 85~210 3.3 60.5

KEERBO'/ PAGE 27

IR RERY!

thasgitt — MUME R &
HOLLOW OUTSIDE PIN ARBOR 2 JAW POWER CHUCK
o PUTHIRIR5PUIER

b Al

- J

DIMENSIONS c(G7)
(mm) | (mm) [ (mm) [ (mm) (mm) (mm) (mm mm) mm) (mm) (mm)
8

PUT-206 165 155 65 140 5 20 5 5 104.8 123.5
PUT-208 210 180 70 170 5 133.4 143 20 5
PUT-210 254 230 82 220 1 02 26 5 171.4 158 23 72
DIMENSIONS P

(mm (mm) (mm (mm (mm) (mm) (mm (mm) (mm (mm)
PUT-206 10 10~20 47 13.75~16.25 -1~9 M33x1.5
PUT-208 M12 10~20 62 35 13.75~16.25 -1~9 77 M45 x 2 29.5 34
PUT-210 M16 14~24 72 40 18.75~2125 -1~9 92 M62 x 2 355 39

DIMENSIONS | %78 |MTR(ER) | R EEE| JAHAN RAF#EEN R TR 2 i BREREH | EE
Rt | piunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max Gripping Force Mnl h" o T i i Max.Pressure | Weight
(mm) (DIA.mm) (mir™) kof kaf atching Cylinder (Mpa) ko)
PUT-206 10 5 6500 1300 4000 K-Y1020 25~100 2.5 12
PUT-208 10 5 5500 1700 5500 K-Y1225 25~130
PUT-210 10 5 4000 2400 6500 K Y1225 35~160 3.3 41

PAGE 28 / KEERBO'

BIRRRRT




KeEERBO I eyl

| BF A&SiElbEEag

FINGER 3 JAW POWER CHUCK
o BFREREAFERE AR THHEEHTRE
o ERTAIMETRERARTEEET 4.

ZTHER b R &2

FINGER 2 JAW POWER CHUCK
o BFTHIRF = SBFEE

\
\

$ C(HT)

=
z
=

—
e
W
24
firs
[
#h

BIRRRRT

Q(h7)
i
L
|||
[

III

|||

[1

I‘I
'%m
m T

& JHTD)

KURECY

& D{H7)

]

XE‘L

v $»Q(h7)
il
T
I
i
I
M
|
i

& D[HT)
|
Qﬁ

sS2

il # vl %,
nER 5 i B
BF-05, 06,08, 10 BF-08, 10, 12,15, 18 BFT-05, 06, 08, 10 BFT-08, 10, 12, 15,18
\ J \ J

DIMENSIONS| A B c D E F ®G | ©H DIMENSIONS! -~ A B c D E F

(mm) (mm) (mm) (mm) [ (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) [ (mm) (mm)
BF-05 135 110 110 37 25 28 ~48 50 82.6 5~25 8 BFT-05 135 110 110 37 25 28 ~48 50 82.6 5~25 8
BF-06 165 110 140 40 25 28 ~48 64 104.8 5~25 8 BFT-06 165 110 140 40 25 28~48 64 104.8 5~25 8
BF-08 210 120 170 56 40 43 ~68 104 1334 5~25 16 BFT-08 210 120 170 56 40 43 ~68 104 133.4 5~25 16
BF-10 254 120 220 56 40 43 ~68 140 171.4 5~25 16 BFT-10 254 120 220 56 40 43 ~68 140 171.4 5~25 16
BF-12 304 120 220 56 40 43 ~68 190 171.4 6~26 — BFT-12 304 120 220 56 40 43 ~68 190 171.4 6~26 —
BF-15 381 120 300 70 45 50~ 84 200 235 6~40 — BFT-15 381 120 300 70 45 50~ 84 200 235 6~40 —
BF-18 457 130 300 70 45 50~84 260 235 6~40 — BFT-18 457 130 300 70 45 50~84 260 235 6~40 —
DIMENSI%NT?_ K L M P1 R DIMENSI%NTJ_

(mm) (mm) (mm) (mm) (mm)
BF-05 3-M10 14 15 30 30 50~70 — 9 425 M12x1.75P BFT-05 4-M10 14 15 30 30 50~70 — 9 42.5 M12x1.75P
BF-06 6-M10 14 15 30 30 50~70 = 12 57.5 M16x2.0P BFT-06 6-M10 14 15 30 30 50~70 = 12 57.5 M16x2.0P
BF-08 6-M12 18 15 30 40 50~70 0~20 16 77.5 M20x2.5P BFT-08 6-M12 18 15 30 40 50~70 0~20 16 77.5 M20x2.5P
BF-10 6-M16 18 15 30 40 50~70 0~20 16 99.5 M20x2.5P BFT-10 6-M16 18 15 30 40 50~70 0~20 16 99.5 M20x2.5P
BF-12 6-M16 18 15 30 40 — 0~20 — 124.5 — BFT-12 6-M16 18 15 30 40 — 0~20 — 124.5 —
BF-15 6-M20 22 15 35 50 — 0~34 — 155 — BFT-15 6-M20 22 15 35 50 — 0~34 — 155 —
BE_18 6-M20 22 15 35 50 — 0~34 — 192 — BFT-18 6-M20 22 15 35 50 — 0~34 — 192 —
DIMENSION NTHE R K HL =] : A= L 3 o DIMENSION NTH2 B K AL 2= : = iR < =

(mm) | (mm) | ©Amm) | kgf(KN) | kofiem’Mpa) | (min) | Meching Cylinder (mm) | (mm) | (DAmm) | kof(KN) | kgfm(Mpa) |  (min) | “eching Cylinder
BF-05 — 3-M6 20 5 0.9 4000 B-RH1020 BFT-05 — 3-M6 20 3.5 0.9 4000 B-RH1020 10
BF-06 = 3-M8 20 9 1.4 3600 B-RH1020 BFT-06 = 3-M8 20 6.5 1.4 3600 B-RH1020 11
BF-08 M32x1.5 3-M8 20 18 2.5 2900 B-RH1020 BFT-08 M32x1.5 3-M8 20 13 2.5 2900 B-RH1020 22
BF-10 M32x1.5 3-M8 20 18 2.5 2400 B-RH1020 BFT-10 M32x1.5 3-M8 20 13 2.5 2400 B-RH1020 34
BF-12 M32x1.5 6-M8 20 18 2.5 2100 B-RH1020 BFT-12 M32x1.5 6-M8 20 13 2.5 2100 B-RH1020 46
BF-15 M45x2 6-M10 34 35 3 1800 B-RH1225 BFT-15 M45x2 6-M10 34 24 3 1800 B-RH1235 75
BF-18 M45x2 6-M10 34 35 3 1500 B-RH1225 106 BFT-18 M45x2 6-M10 34 24 3 1500 B-RH1235 106

KEERBO'/ PAGE 29 PAGE 30 / KEERBO'



—
e
W
24
firs
[
#h

KEERBO

W T+

SHAFT PROCESSING CHUCK

o HINTIRE, B HEIERRIGEMTRRFRIEE;

1 HEEIRRREIRERE (EERXCEERL) AR

OLEHEFOIESR; QEERREREHNROE, @ORMNEEIVEE
THELSRIRENRY, IRENERIATHARE,; @XENHEETIRERESLIMAEME;
OIHERHIEETRAA B AR HRREEEFRETD, @REIRTERFT
ESIVA=CIpEINEES e S s N

2. TR E IR R AV R QLR OFEN, O THREREAME
PHEER TR TR IR AR EIERIN THAYIRE, anH RIS BRE LI
HEME, | OEIIAFHRIINE R ISRRIESRME TR TR AE
@iREIKAIAIFOTRRAIRN O E FEIS VA BRI,

4 I
N
A
< I ’J — A==z ° T
s ©
3 [ - 7 /71_: | =
S—
QW_I__m__m__%___
LE | .
L
JLE
B H
\ J
DIMENSIONS
R~ A B C D E F DG OH |
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
BSA-08 200 165 170 50 5 18 146 80 M38x1.5
BSA-10 260 215 220 61 5) 18 146 90 M50x1.5
BSA-12 320 275 235 75 5 18 146 105 M56x2
DIMENSI%NT?_ J K L M N =
(mm) (mm) (mm) (mm) (mm) (mm)
BSA-08 24 ~74 3-M16 20 60 24 25~82.5
BSA-10 25~83 6-M16 25 80 25 27 ~93.5
BSA-12 33~98 6-M20 28 102.5 33 15.4~93
DIMENSIONS | FIEETE (H)| MEB(H) |H#TR (£8) |BSEREE| SAHA N Ex g o | =g
R~ Tmﬁ:ﬁki ﬁ‘ad‘;'bs‘{‘)kj &f Compensation| Diagonal stroke I\S/LIa?(.Speed Max.Pull Force Ma?(igﬁgzlr%gﬁrjc]e ﬁuﬁ.&%%f V\;i;iht
aw stroke s
caw((m?né)ln ) (Absr;]z:rr:d H) (fullr%c;rt]nse) (i 1) kgt (KN) (af{kN) atching Cylinder| * )
BF-05 5° 9 +0.8 57.5 4000 40 40 B-RE1060 30.5
BF-06 5° +1 66.5 3500 60 65 B-RE1260 54
0
BF-08 5 115 +1 77.6 2800 80 100 B-RE1260 98

KEERBO'/ PAGE 31

IR RERY!

| KF  AGEs g

LEVER COMPENSATION TYPE POWER CHUCK
o KIREWRMWMENTIEARE, LEROAEE, TMHEMSI

te, EOROERER; o
o XFFNTHMEEAS5-10MM. A FIUMER T I8#MTRR, EFHEK _ %
o EEHR GBI RE—, SERSEE P
4 I
rL_
FE
<| © P - <) -
S = H—
g Z
2
. LE |
F
T B
\ J
D|MENS|%NT?_ A B C(H6) D = = €] K L
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
KF-08 200 96 170 8 21 5 133.4 6-M12 16

DIMENSIONS!  m N 0 P Q R S X W
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
35 14 22 95 39

KF-08 25 382~442 14~27 32~44

DIMENSIONS | T2 (EfR) | HEITE Mz = R OEE EARA BABEES | gepgue | 58
R=F|  Jaw Stroke Plunger Stroke | Jaw Compensation | Max.Speed | Max.Pull Force| Max.Gripping Force Matching Cylinder Weight

(DIA.mm) (mm) (mm) (min") kgf (KN) kgf(KN) gLy ()

KF-08 12 12 +0.2 3000 1500 2750 B-R1225 23

PAGE 32 / KEERBO'

BIRRRRT




KeEERBO RSB R

| MDS &3R5 S EAAMER £
GEAR DIAPHRAGM 3 JAW CHUCK GEAR DIAPHRAGM 6 JAW CHUCK

1. MPSIRA N REREZHIRE, B3N, 6/TA FHks; 1.MPSERA - REREEHIRE, B3N, 6/A] ik,

2. ERUEEAIIMEP.C.DARIEHITRE, ATLAIN TISACAIPR SR E M TR ZAR 2. BERKIHIIMEP.C.DAEEH TR R, T LANN TR AR SR E M TTIAZIEL
FRRODEEK; FRRIOEEK;

3 INTARA/NEEERS, AFEHSTZE S RITHAA R TH T, 3INTARA/NIEECHS, RFBEISIZR S RITGFAR TH T

ABEGRINIYIHE. HE. BEhfl. HERGNS, AESRINTIYIHE. HE. BEhfl. HERGES,

SESEIAREN ST, BALRES PREKREH TR S5ASEARIVSAAT. BRI LWRIES PRI TN

6. EEEMABEAIA0.01mm. 6. EEEMABEAIA0.0Tmm.

4 4

—
e
W
24
firs
[
#h

BIRRRRT

N ”
NPT1/4” NPT1/4

- — -

oD

B

Y
n 3L ﬁ ..

N Y N i Y

R~F MDS-07 MDS-08 MDS-10 MDS-13 MDS-17 Rt MDL-07 MDL-08 MDL-10 MDL-13 MDL-17
DIMENSIONS DIMENSIONS
175 213 251 327 429 175 213 251 327 429

A(mm) A(mm)
B(mm) 92 96.8 96.8 108 109.5 B(mm) 92 96.8 96.8 108 109.5
C(mm) 60.5 65 65 74 75.4 C(mm) 60.5 65 65 74 75.4
D(mm) 208 246 284 — — D(mm) 208 246 284 — —
E(mm) 19.1 19.1 19.1 19.1 19.1 E(mm) 19.1 19.1 19.1 19.1 19.1
%5358 Gripping Range (mm) 20~40 40~70 70~100 100~160 160~250 %$5358 8 Gripping Range (mm) 20~40 40~70 70~100 100~160 160~250
4TE2(HER) Jaw Stroke(DIA.mm)  0.23 0.25 0.25 0.35 0.4 JN4F#2(E %) Jaw Stroke(DIA.mm)  0.23 0.25 0.25 0.35 0.4
BABXEA #Single 600 720 1400 2000 3500 BABREN #Single 600 720 1400 2000 3500
Max.Gripping Force Max.Gripping Force
(kgf) WDouble 1200 1440 2800 4000 7000 (kgf) MDouble 1200 1440 2800 4000 7000
EE Weight(kg) 11 20 26.5 43 89 EE Weight(kg) 11 20 26.5 43 89

KEERBO'/ PAGE 33 PAGE 34 / KEERBO'



—
e
W
24
firs
[
#h

KEERBO

_MEA/MEB g%t i

SINGLE-SLIDE FACING HEAD

\

7

A
& C(HT)
|
1
bD

N o o
=

G

1.MEA/BRJI AL E LIS i R'égl |
StRmeHEANEDREAn, || = =S 1A oo\
,HJEJEI%E, 1= — P~ PR a
U P ~ M

SRESFROBRERES; |
3:ﬁww 2 FEE K AR BB | ;

B, MM STHA MR =
4 EI¥ERERTA £0.03mm. B

NGl 5
1

B H2 (Fig2)

J

NARERG

W EsE=minERs

HOLLOW HIGH SPEED 3 JAW POWER CHUCK

o BB, ERREE TS
SRR 0.02mm.
/ v
B
_E_

H= =

_ET
i

$ A
& C (16)

S B |CHN| D E F G K

(mm) [ (mm) | (mm) | (mm) (mm) [ (mm) (mm) (mm) (mm) (mm) (mm)
MEA-150 150 107 110 20 102 5 82.6 +7.5 25 3-M10
MEA-198 198 126 140 25 121 6 120 +15 30 6-M10
MEA-400 400 200 300 50 192 6 235 120 +35 60 6-M20
MEB-110 110 58.5 85 = 69 4 70.6 36 +4 = 4-M10
MEB-156 156 107 140 20 110 5 104.8 56 +5 20 4-M10
MEB-198 198 127 170 25 130 5 133.4 60 +6 32 4-M12

DIMENSIONS
(mm) | (mm)| (mm) | (mm) (mm) | (mm)| (mm) | (mm) | (mm) (mm) (mm) B

MEA-150 4-M8 60~75 M12x1.75 56 Fig1
MEA-198 12-M10 24~54 M16 x 2 Fig1
MEA-400 32 15 - 8-M16 40~110 80 - 75 65 M30 x 3.5 - Fig1
MEB-110 13 - - 14-M6 12~26 24 10 30 15 M12x1.75 - Fig2
MEB-156 17 15 - 4-M10 48~66 28 %8 35 40 M12x1.75 - Fig2
MEB-198 18 15 - 4-M10 63~84 32 ¢10 50 50 M16 X 2 - Fig2
DIMENSIONS 22 4TS =5 B R 5 y = e :
Rt Plﬁﬁgfrg?ozke Facing s:{roke Max.Speed I\/T§ EE.'EH ﬁCI;"Iﬂ : I\Ellia';j.grigﬂ Weight
(DIA.mm) (min™) atching Cylinder |\ sem®(Mpa) | (ko)
MEA-150 1 1200 K-Y0815 1.2 11.9
MEA-198 K-Y1230 .
MEA-400 70 70 500 K-Y1270 2.6 167
MEB-110 14 8 1600 K-Y0815 1.0 4.2
MEB-156 18 10 1200 K-Y1020 2.7 145
MEB-198 21 12 800 K-Y1225 4.4 28.5

KEERBO'/ PAGE 35

5/I
e
L L]
L BN-204, 205 BN-206, 208, 210, 212, 215
\
DIMENSIONS C(He) H
(mm (mm mm) (mm mm) (mm) mm) mm) (mm (mm (mm
BN-204 4 70.6 20.3~23
BN-205 135 110 4 82.6 3 M10 23.8~26.5
BN-206 168 81 140 5 116 104.8 45 6-M10 16 20 29.25~32
BN-208 210 91 170 5 150 133.4 52 6-M12 18 25 35~38.7
BN-210 254 100 220 5 190 171.4 75 6-M16 19 30 46.6 ~ 51
BN-212 304 110 220 6 190 171.4 91 6-M16 25 30 56 ~61.3
BN-215 381 147 300 6 260 235 100 6-M20 31 43 64.7 ~70
DIMENSIONS P U v W X
mm) (mm) mm) (mm) [ (mm) | (mm) (mm) (mm) (mm) (mm)
BN-204 6.75~11.25 -6.5~3.5 1 M32 x 1.5P 12 24 53
BN-205 6~19 -9~1 2 M40x1.5P 12 31 62
BN-206 7~24 -1~11 31 12 19 2 M55 x 2P 20 37 73
BN-208 10~30 -1.5~14.5 35 14 20 2 M60 x 2P 30 38 95
BN-210 12~34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 110
BN-212 12~46 -15~8 50 21 28 2 M100 x 2P 50 51 130
BN-215 20.25~54.75 0~23 50 255 35 2 M110 x 2P 50 63 165

BN-204
BN-205
BN-206
BN-208
BN-210
BN-212
BN-215

DIMENSIONS | 4

100

HETR

10
10
12
16
19
23
23

MAR(ER)| RS

(DIA.mm)
5.4
5.4
5.5
7.4
8.8

10.6
10.6

7200
6300
5400
4300
3800
3000
2500

RAHS

kgf

(KN)
14
17

21
33
42
55
98

RABERAN
Plunger Stroke | Jaw Stroke | Max. Speed Max.Pull Force | Max.GrippingForce

Kgf(KN)
28.5
35
56
82
108
140
248

BS1036
BS1036
BS1246
BS1552
BS1875
BS2091
BS2511

BRMEES
Matching Cylinder

EEEREN

kgflcm (Mpa)

2.8
3.4
2.7
2.5
2.6
2.6
3.3

iR E
Max.Pressure Gripping Range | Weight

(mm) (kg)
7~110 4
12~135 6
16~168 125
16 ~210 22
25~254 33.6
25~304 55.3
50 ~ 381 117

PAGE 36 / KEERBO'

PR S i E)




KeEERBO HH-ERRF

HOLLOW HIGH SPEED 2 JAW POWER CHUCK HOLLOW HIGH SPEED 4 JAW POWER CHUCK
o B—MhLiBFLRE, ERTINISFAISEREMEINEM 88 o B—frh OBl RE, BRTINISHAMSEREMRIIEMY 88

hEEE=MEEER o RN EsEmminERe

EEHARET. EEHARET.
w Q
T R
3 it
£ |
e s
- —T X
u [e]
g “\%
s 8 8 |17 % 3 g
g >
E i
=T - ;
[u ] @
= H ? =
4 4
Eé g BT-204,205 BT-206,208,210,212 gﬁ
.I.|L .I.|L
R DIMENSIONS C(H6) DIMENSIONS C(H6) .R
ﬁ (mm) (mm (mm (mm) | (mm) mm) (mm) mm) (mm) [ (mm) (mm (mm) mm) (mm) | (mm) (mm (mm) (mm) (mm) (mm) [ (mm) mm) "'E
BT-20 4 20.3~23 5 4-M10x 1.5P 9.25~ 32
BT—205 135 110 4 826 4— M10><1 .5P 23.8~26.5 BH 208 210 170 5 150 1334 4-M12 x 1.75P 35 38.7
BT-206 168 81 140 5 116 104.8 45 6-M10x 1.5P 16 20 29.25~32 BH-210 254 100 220 5 190 1714 75 4-M16 x 2P 19 30 46.6~ 51
BT-208 210 91 170 5 150 133.4 52 6-M12x1.75P 18 25 35~38.7 BH-212 304 110 220 6 190 171.4 91 4-M16 x 2P 25 30 56~ 61.3
BT-210 254 100 220 5 190 171.4 75 6-M16x2P 19 30 46.6 ~51
BT-212 304 110 220 6 190 171.4 91 6-M16x2P 25 30 56 ~61.3
DIMENSIONS DIMENSIONS
(mm (mm (mm (mm) [ (mm) [ (mm) mm) mm) mm) (mm (mm (mm (mm (mm) [ (mm) | (mm) mm) (mm) mm) mm)
BT-204 6. 75 ~11.25 -6.5~3.5 1 M32 x 1.5P BH-206 7~24 -1~11 2 M55 x 2P
BT-205 ~19 -9~1 2 M40 x 1.5P BH-208 10~ 30 -1.5~145 2 M60 x 2P
BT-206 7 24 -1~11 31 12 19 2 M55 x 2P 20 37 73 BH-210 12~ 34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 110
BT-208 10~30 1.5~14.5 35 14 20 2 M60 x 2P 30 38 95 BH-212 12~ 46 -15~8 50 21 28 2 M100 x 2P 50 51 130
BT-210 12~34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 110
BT-212 12~46 -15~8 50 21 28 2 M100 x 2P 50 51 130
DIMENSIONS BIER | HEFE NrRER)| R EEE| SXHA RAHEHEN ERMAR S REEEEN FHEE EE DlMENS|ONS FlER | HETE TTRER)| REEEE SXHh RA#ERN ERmAR S ReERES FIEE EE
Thru-Hole | Plunger Stroke| Jaw Stroke | Max. Speed Max.Pull Force | Max.Gripping Force Matching Cyling Max.Pressure Grlppmg Range Weight Thr -HoIe Plunger Stroke| Jaw Stroke | Max. Speed Max.Pull Force | Max.Gripping Force Matching v Max.Pressure | Gripping Range | Weight
Diameterm)  (mm) | (DIAmm) | (min" KN KN AChINg BYINGEr | (\pa) (mm) kg Demer(m)  (mm) | (DIAMm) | (min” KN (KN) alening Lyinder Mpa (mm) (ko)
BT-204 10 8000 BS1036 1 93 ~110 BH-206 12 55 4500 BS1246 22~168 14.2
BT-205 10 7000 BS1036 12 ~135 BH-208 2 3600 BS1552 25~210 24.5
BT-206 45 12 5.5 6000 14 37 BS1246 1.8 14~168 13 BH-210 75 19 8.8 3200 31 78 BS1875 2.0 26~254 38
BT-208 52 16 7.4 4800 22 56 BS1552 1.7 16~210 225 BH-212 91 23 10.6 2500 40 102 BS2091 2.0 35~304 60.5
BT-210 75 19 8.8 4200 27 73 BS1875 1.8 31~254 355
BT-212 91 23 10.6 3300 36 95 BS2091 1.8 34~304 52

KEERBO'/ PAGE 37 PAGE 38 / KEERBO'



KeEERBO HH-ERRF

kTR TUHEE S
HOLLOW LONG STROKE 3 JAW POWER CHUCK
o REMFOEIEFL TRIRITEKX.

o HFEERA;

o EFAER T (HRYESE,

o BLTHYITRERA, REEEI3E

| BD AErSitRgas
HOLLOW LARGE THROUGH HOLE POWER CHUCK
o FNEFLELERK,

o ERERTHRIEK

4 v a7 ) 4 v )
4T T
L By
— E” 1) _
-k = < ) ] =
N —
P N o Z.
< 2 . 39 z i~
s * —
, :
L
Ju i
= v =
B
4 4
b J hee
ﬁE DIMENSIONS C(H6) G H DIMENSIONS B C(H6) F L M N ﬁE
'R (mm (mm) (mm) | (mm) | (mm) | (mm) (mm (mm) | (mm) | (mm) (mm) [ (mm) (mm) 'R
ﬁ BD-206 168 140 5 116 104.8 6-M10 29.25~32 BL-206 165 87 140 5 116 104.8 3-M10 16 20 29.25~39.25 .IIE
BD-208 210 170 5 150 133.4 6-M12 35~38.7 BL-208 215 100 170 5 150 133.4 3-M12 21 25 40.5~53
BD-210 254 100 220 5 190 171.4 75 6-M16 19 30 46.6 ~51 BL-210 254 117 220 5 190 171.4 53 3-M16 27 30 47.5~62.5
BD-212 304 110 220 6 190 1714 91 6-M16 25 30 56~61.3 BL-212 304 138 220 5 190 171.4 63 3-M16 23 30 57 ~74.5
BD-215 381 133 300 6 260 235 117.5 6—-M20 28 43 77.4~82.7
BD-218 450 133 380 6 320.2 235 1175 6—-M20 30 43 76.7 ~82
BD-221 530 140 380 6 330.2 330.2 140 6-M22 31 60 93.2~98.5
BD-224 610 149 6 330.2 3302 165 6—-M22 102.7 ~ 108
DIMENSIONS DIMENSIONS Vv W X
(mm (mm (mm (mm) [ (mm) [ (mm) mm) mm) mm) (mm (mm (mm (mm (mm) [ (mm) | (mm) mm) (mm) (mm) (mm)
BD-206 7~24 -1~11 M55 x 2P BL-206 9.25~16.75 ~15 M38x1.5 20 37 73
BD-208 10~ 30 -1.5~14.5 2 M60 x 2P BL-208 11.75~20.75 —1 6~3 2 M55x2 30 38 95
BD-210 12~ 34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 1 10 BL-210 11.25~26.25 6~28 40 16 40 2 M65x2 45 43 110
BD-212 12~46 -15~8 50 21 28 2 M100 x 2P 50 51 130 BL-212 12.75~38.25 -16.8~8.2 50 21 38 2 M75x2 50 51 130
BD-215 13~46 -15~8 62 22 39 5 M130 x 2P 60 66 165
BD-218 18.25~78.25 -12~11 62 22 33 5 M130 x 2P 60 66 165
BD-221 21.5~87.5 -12~11 65 25 33 5 M155 x 3P 80 66 180
BD-224 21.5~117.5 -3~20 65 25 35 5 M175 x 3P 80 74 180

wEAE (NTEER|BREERE| BXih | BAHEED

BREREN | ZiEEE =
Plunger Stroke| Jaw Stroke | Max. Speed Max.Pull Force | Max.GrippingForce

Max. Pressure Gripping Range | Weight

DIMENSIONS EAER

it i T 2
Thru-Hoe ity

D'MENS'ONS ElEs | HEAR (MTEER)|BSERE BXHN BABREN | wpumne | BREREN | fidE
| Thu-Hole | Plunger Stroke | Jaw Stroke | Max. Speed Max.Pull Force | Max GrippingForce | /& "85 MaxPressure Gripping Range | Weight

Demeterm)  (om) | (DIAmM) Kgfkny | MeCing Oylnder | e i) (ko) Demeterm)  (om) | (DIAmM) kot | MECIG CYInGeT | i) | (mim)
BD-206 53 12 55 6000 20 585  BS1246 27  19~170 11.8 BL-206 28 15 20 4500 27.9 31.2  BS1246 3.4  28~165 14
BD-208 66 16 7.4 5000 32 99 BS1552 26  23~210 23 BL-208 45 19 25 3300 41.1 49 BS1552  2.99  32~215 25
BD-210 81 19 8.8 4500 48.8 126 BS1875 25  41~254 32 BL-210 53 22 30 3000 53.8 63 BS1875 3.2  42~254 45
BD-212 106 23 10.6 3500 59 153 BS2091 2.4  47~315 52 BL-212 63 25 35 2200 69.3 80.4  BS2091 32  43~304 78
BD-215 1175 23 10.6 2200 71 178 BS2511 24  30~381 120
BD-218 175 23 10.6 1800 71 178 BS2511 22  35~450 164
BD-221 140 23 10.6 1500 89 232 BS2511 29  90~530 235
BD-224 165 23 10.6 1200 89 232 BS2511 29  110~610 293

KEERBO'/ PAGE 39 PAGE 40 / KEERBO'



=
e
24
firs
R
I~

KEERBO

REAFREZMHAERR
HOLLOW LONG STROKE 2 JAW POWER CHUCK
e BLTHZ=Z N XKI7FEHERESBLAZE=/N X1TRERE
~ERIERE),

o BLTTHYTIERA, 2EBERI3E

4 . )
1]
!
E" [J_ il -
= >
U
— Z
< S = |
s 5 € !
< f—
&:@
K 4B
B
- J
DIMENSI%NT? A C(He) G H M N
(mm) (mm) (mm) [ (mm) | (mm) | (mm) |(mm) (mm (mm) [ (mm) (mm)
BLT-206 165 140 116 104.8 4-M10 20 29.25~39.25
BLT-208 215 100 170 5 150 133.4 45 4-M12 21 25 40.5~53
BLT-210 254 117 220 5 190 171.4 53 4-M16 27 30 47.5~62.5
BLT-212 304 138 220 B 190 171.4 63 4-M16 23 30 57 ~74.5
DIMENSIONS
R+ 0
(mm) mm) mm) (mm) [ (mm) | (mm) (mm) (mm (mm) mm)
BLT-206 9.25~16.75 ~15 M38x1.5
BLT-208 11.75~20.75 —16 3 5 2 M55x2 5
BLT-210 11.25~26.25 6~28 40 16 40 2 M65x2 45 43 110
BLT-212 12.75~38.25 -16.8~8.2 50 21 38 2 M75x2 50 51 130

gEAR |MAEER) BRESERE| SANN | BABEE)
Plunger Stroke | Jaw Stroke | Max. SPEEd Max.Pull Force | Max Gripping Force

DIMENSIONS | 7.8
Rt EHNEL

b T 3 ;;u:: Hinﬁmrj]
Thru-Hole BEHIRS

Matching Cylinder

Denet(mm)| —(mm) kgt (KN) | kaf(k) kgfom (e
BLT-206 28 15 20 4500 18.6 20.8 BS1246 2.36 28~165 135
BLT-208 45 19 25 3300 27.4 32.7 BS1552 2.08 32~215 24
BLT-210 53 22 30 3000 35.9 42 BS1875 2.2 42~254 435
BLT-212 63 25 35 2200 46.2 53.6 BS2091 2.2 43~304 75.5

KEERBO'/ PAGE 41

NARERG

QW txsiE=maEEs

SOLID HIGH SPEED 3 JAW POWER CHUCK

1. REDRK KFF R EETINT—RTHE U
2. TN TAR T4RS, RFEE £ RTBEIRI EF.

4 , N

L
T-EB %= =
=3 I <
=2 1 | (=]

0A

0C (H6),

=7
L] o —
(D) ==}
U ®-04,05) | | “Il <
- _|_ _——
K
P)
(KN-04, 05)
S p L F1) KN-21, 24: 60°
\ F2) KN-21, 24: 0°
- IIIII-II-
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
KN-04 110 6 3-M8 20.1~233
KN-05 135 55 80 7 - 100 3-M8 14 14 27.2~30.4
KN-06 165 74 140 5 116 104.8 6-M10 14 20 33.55~37.8
KN-08 210 85 170 5 150 133.4 6-M12 18 25 419~46.3
KN-10 254 89 220 5 190 171.4 6-M16 20 30 47 ~51.4
KN-12 304 106 220 6 190 171.4 6-M16 20 30 55.45 ~ 60.7
KN-15 381 114 300 6 260 235 6-M20 30 43 69.5~77.5
KN-18 450 114 300 6 260 235 6-M20 30 43 100 ~ 108
KN-21 530 125 380 6 330.2 330.2 6-M20 31 60 78~86
KN-24 610 125 380 6 330.2 330.2 6-M20 31 60 117 ~125
DIMENSIONS
mm mm mm) mm mm m mm mm mm mm
KN-04 8.25~11.25 8.25~11.25 10.0 8 M10x 1.5P
KN-05 6.75~11.25 6.75~11.25 25 10.0 35 3 M12 x 1.75P 28 31 62
KN-06 7.5~18 75~18 31 12.0 36 4 M16 x 2.0P 34 39 73
KN-08 9~225 9~225 35 14.0 36 5 M20 x 2.5P 38 42 95
KN-10 10.5~37.5 10.5~37.5 40 16.0 36 5 M20 x 2.5P 45 46 110
KN-12 11-~47 11~47 50 18.0 36 5 M20 x 2.5P 50 54 130
KN-15 23.25~48.75 23.25 ~48.75 62 255 55 2 M30 x 3.5P 60 62 165
KN-18 23.25 ~48.75 23.25 ~48.75 62 25.5 55 2 M30 x 3.5P 60 62 165
KN-21 27.5~93.5 27.5~93.5 65 25.0 55 3 M30 x 3.5P 60 70 180
KN-24 27.5~93.5 27.5~93.5 65 25.0 55 3 M30 x 3.5P 60 70 180

PAGE 42 / KEERBO'

PR S i E)




KeEERBO HH-ERRF

QW sssE=minERe i haoEE = MnEE S
SOLID HIGH SPEED 3 JAW POWER CHUCK SOLID HIGH SPEED 2 JAW POWER CHUCK

1. RENBK FFFERA EE T I T T4 EEREEST, 1. REDRA S F R BE T IN TS EE T4 LR,
2. TEERIN AR TRy, RFEHR-RMBIEIER. 2. TN TAR T4RS, RFEE £ RTBEIRI EF.

I
M

0A

T
——T i
7 1 —

(L) =

®N-04,05) | | <
__.|____

K

=

P)

=
e
24
firs
R
I~

PR S i E)

(KN-04, 05)
S P A #1) KN-21, 24: 60°
FE2) KN-21, 24: 0° DIMENSIONS1 A B | CHe) | F G H M
K J (mm) (mm) (mm) | (mm) (mm) (mm) 10)]
KT-04 110 52 60 6 - 80 4-M8 12 14 20.1 ~23.3
KT-05 135 55 80 7 = 100 4-M8 14 14 27.2~30.4
pEeE | UTEER) | BaomE | Bxin enng | BEEAED | ge KT-06 165 74 140 5 116 104.8 6-M10 14 20 33.25~37.8
1| Plunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force | 1% i "coinder | Gripping Range | Max-Pressure |\ iy ) KT-08 210 85 170 5 150 133.4 6-M12 18 25 41.9~46.3
h o whay || i Ly L Gy kgt/om (Mpa) KT-10 254 89 220 5 190 171.4 6-M16 20 30 47~51.4
hOl=E5 2 as 2800 7.6 22.8 i 8~110 2.2 & KT-12 304 106 220 6 190 171.4 6-M16 20 30 55.45~60.7
KN-05 15 6.4 5500 7.8 24 K-Y0815 16~ 135 22 6.2
KN-06 20 8.5 5000 17 51 K-Y1020 19~ 165 2.6 13.0
KN-08 21 8.8 4600 22 73 K-Y1225 23~210 25 25.0
KN-10 25 8.8 4000 28 106 K-Y1225 24 ~ 254 28 37.0 DlMENSl%NT? 0o P Q R S T U v w X
KN-12 30 10.5 3200 40 152 K-Y1530 26 ~ 304 28 57.3 (mm) (mm) (mm) | (mm) | (mm) [ (mm) (mm) (mm) | (mm) | (mm)
KN-15 35 16 2800 81 248 K-Y2035 72 ~ 381 3.2 96.5 KT-04 3~18 23 10 25 3 M10 x 1.5P 26 25 53
KN-18 35 16 2700 81 248 K-Y2035 135~ 450 3.2 124.5 KT-05 —-6~9 25 10 35 3 M12 x 1.75P 28 32 62
KN-21 35 16 1900 81 248 K-Y2035 70 ~ 530 3.2 180 KT-06 81.5~101.5 31 12 36 4 M16 x 2P 34 39 73
KN-24 35 16 1750 81 248 K-Y2035 152 ~610 3.2 223 KT-08 106 ~ 127 35 14 36 5 M20 x 2.5P 38 41 95
KT-10 133~158 40 16 36 5 M20 x 2.5P 45 46 110
KT-12 133~163 50 18 36 5 M20 x 2.5P 50 54 130
DIMENSIONS remn (TR(ER)| &S E| BLH SN EX: . o | BEERE
Rt Plﬁfrgiﬁke mng*iS%Ig) ﬁg%gg&a Max.Pull Force M;ﬁ(}iﬂ;ﬁ%ﬁ& #5@37%1*1.”1; ot e
(mm) (DIAmM) (min_1) (KN) Matching Cylinder (Mpa)
KT-04 15 6.4 5500 5.2 13.8 K-Y0715 1.7 5~110 3.8
KT-05 15 6.4 5200 5.4 15.1 K-Y0715 1.7 18~135 5.8
KT-06 20 8.5 5000 11.2 31.7 K-Y1020 1.9 22 ~165 12.5
KT-08 21 8.8 4000 15 45.8 K-Y1225 1.6 24 ~210 24
KT-10 25 8.8 3500 17.7 65.5 K-Y1225 1.9 27 ~ 254 35.5
KT-12 30 10.5 3000 25.2 94.5 K-Y1530 1.8 33 ~ 304 60.5

KEERBO'/ PAGE 43 PAGE 44 / KEERBO'



KeEERBO HH-ERRF

R ATIES MilE-R & A TR MilE-R &
SOLID LONG STROKE 3 JAW POWER CHUCK ) SOLID LONG STROKE 2 JAW POWER CHUCK

o KLT MRYTIER A, ERTIIRFELRH-.

o KEZBAK, PLRITIERFFBERAES T I T T4 FUREsT, o KLTEGH: S5KLIER

o TEZRNN AR T4RS, RFBEHKRRIEI R,
o ESEMAEERIA: 0.02mm.
o KL THYTIER K, ERTINTRIEERME.

4 ) ] I ) . .
T
T ———_
é g _ — = /;.; ) — =
g é Bl _— fe] = g g g B | o =
1 - 1 ! =
=4 -F S o
7 111 — yARWIE: \ =
= U
U Ll I’L'
- ] = =
& “1 7] =
h& h&
[ =
DIMENSIONS | A B | C(He) F G H K L M N DIMENSIONS| A B | C(He) F G H K L M N
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) | (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) [ (mm) (mm)
KL-06 165 74 140 5 116 104.8 6-M10 14 20 34~40.5 KLT-06 165 74 140 5 116 104.8 6-M10 14 20 34 ~40.5
KL-08 210 85 170 5 150 133.4 6-M12 20 25 40~48.1 KLT-08 210 85 170 5 150 133.4 6-M12 20 25 40~48.1
KL-10 254 89 220 5 190 171.4 6-M16 18 30 45.35~544 KLT-10 254 89 220 5 190 171.4 6-M16 18 30 45.35~54.4
KL-12 304 106 220 6 190 171.4 6-M16 18 30 56 ~65.7 KLT-12 304 106 220 6 190 171.4 6-M16 18 30 56 ~65.7
KL-18 450 116 300 6 260 235 6—-M20 30 43 97.5~1105 KLT-18 450 116 300 6 260 235 6-M20 30 43 97.6~110.5
IR o P Q R S T U v w X RS o P Q R S T U v w X
(mm) (mm) (mm) | (mm) | (mm) [ (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) | (mm) | (mm) | (mm) (mm) (mm) (mm) (mm)
KL-06 9.25~13.75 81.5~101.5 31 12 36 4 M16x 2.0P 34 39 73 KLT-06 9.25~13.75 81.5~101.5 31 12 36 4 M16 x 2.0P 34 39 73
KL-08 11.75~20.75 106~ 131 35 14 36 5 M20 x 2.5P 38 41 95 KLT-08 11.75~20.75 106 ~ 131 35 14 36 5) M20 x 2.5P 38 41 95
KL-10 11.5~29.5 133~ 161 40 16 36 5 M20 x 2.5P 45 46 110 KLT-10 11.5~29.5 133~161 40 16 36 5 M20 x 2.5P 45 46 110
KL-12 12.75~42.75 17~ 47 50 18 46 5 M24 x 3.0P 50 54 130 KLT-12 12.75~42.75 17 ~47 50 18 46 B M24 x 3.0P 50 54 130
KL-18 23.25~475 57~97 62 25.5 55 2 M30 x 3.5P 60 63 165 KLT-18 23.25~47.5 57 ~97 62 25.5 55 2 M30 x 3.5P 60 63 165
DIMENSIONS | #1718 |IUTR(ER) BREKE| BXiih | BABKEN | wryene | BBEAEN| inE | 28 DIMENSIONS | #4718 |IUrR(ER) BEEKE| BXi | BABEEN | wgyeno | BBEAEN| inE | 28
R~ Plunger Stroke| Jaw Stroke Max.Sp?ed Max.Pull Force | Max.GrippingForce J;fﬁ,’nmﬁcl%];r Max.Pressure Gripping Range | Weight Rt Plunger Stroke | Jaw Stroke Max.Spt?ed Max.Pull Force | Mex.Gripping Force J;fﬁ,f%%};r Max.Pressure Gripping Range | Weight
(mm | (OAmm) | (min”) (KN) (KN) g Lyl (Mpa) (mm) (ko) (mm) | (DIAmm) | (min”) (KN) (KN) el (Mpa) (mm) (ko)
KL-06 20 13 4300 21 39 K-Y1020 3.0 22~ 165 12 KLT-06 20 13 4300 14.7 27.7 K-Y1020 2.0 22~165 125
KL-08 25 16.2 3600 30 60 K-Y1225 2.9 23~210 25 KLT-08 25 16.2 3600 20.5 39.5 K-Y1225 1.6 23~210 24
KL-10 28 18.1 3100 40 81 K-Y1228 2.8 27 ~ 254 345 KLT-10 28 18.1 3100 27.7 65 K-Y1225 1.9 27~254 355
KL-12 30 19.4 2500 54 111 K-Y1530 3.6 33~ 304 60 KLT-12 30 19.4 2500 38 77.6 K-Y1530 1.8 33~304 60.5
KL-18 40 26 2100 91 186 K-Y2035 3.5 124~450 124 KLT-18 40 26 2100 62 128 K-Y2035 23.7 124~450 120

KEERBO'/ PAGE 45 PAGE 46 / KEERBO'



KEERBO

NARERG

=
e
24
firs
R
I~

(VERTICAL LATHE) LARGE POWER CHUCK
o KV/A BRTMIER

UERMOBEXEER

olwl

KV-15, 18/A11

Kv-21, 24, 28, 32, 36, 40/A15

DIMENSIONS| A B | CHe)| D E @
(mm) | (mm) | (mm) | (mm) | (mm) | (m (mm)

300

300

F

W)
40  6-M12
40

H J
(mm) | (mm)

35

35

KV-15/A11 381 116 196.87 6 235
KV-18/A11 450 116 196.87 6 6-M16 235
KV-21/A15 530 127 380 330.2 6 40 6-M16  330.2 35
KV-24/A15 610 127 380 330.2 6 40 6-M16  330.2 35
KV-28/A15 700 127 380 330.2 6 40 6-M16  330.2 35
KV-32/A15 800 127 380 330.2 6 40 6-M16  330.2 35
KV-36/A15 914 127 380 330.2 6 40 6-M16  330.2 35
KV-40/A15 1000 127 380 330.2 6 40 6-M16  330.2 35
DIMENSI%NT]_ N. o P Q R S T U
(mm) (mm) (mm) (mm) | (mm) | (mm) [ (mm) | (mm)
KV-15/A11 69.5~77.5 23.2~48.7 44.5~79.5 50 25.5 60 5 M30
KV-18/A11 100~108 23.2~48.7 44.5~79.5 50 25.5 60 5 M30
KV-21/A15 78~86 27.5~93.5 56 ~91 65 25 60 6 M30
KV-24/A15 78~86 27.5~93.5 56 ~91 65 25 60 6 M30
KV-28/A15 78~86 27.5~93.5 56 ~91 65 25 60 6 M30
KV-32/A15 78~86  27.5~93.5 56 ~ 91 65 25 60 6 M30
KV-36/A15 78~86 27.5~93.5 56 ~91 65 25 60 6 M30
KV-40/A15 78~86 27.5~93.5 56 ~ 91 65 25 60 6 M30

DIMENSIONS
R~

KV-15/A11
KV-18/A11
KV-21/A15
KV-24/A15
KV-28/A15
KV-32/A15
KV-36/A15
KV-40/A15

(mm)
35
35
35
35
35
35
35
35

KEERBO'/ PAGE 47

wErE (TERER)|® #
Plunger Stroke| Jaw Stroke | Max.Speed | Max.Pull Force | Max.GrippingForce
(DIA.mm)

16
16
16
16
16
16
16
16

& iR

(minq)

2900 82
2600 82
1800 82
1700 82
1200 82
1100 82
1000 82

800 82

BAHN

BAREES

(KN)
247
247
272
272
272
272
272
272

J
K L | ™
(mm) | (mm) | (mm)
26 43
26 43

6-M20

6-M20

6-M24 35 60

6-M24 29 60

6-M24 29 60

6-M24 29 60

6-M24 29 60

6-M24 29 60
Y w X

(mm) | (mm) (mm)

60 66 135
60 66 135
60 75 180
60 75 180
60 75 180
60 75 180
60 75 180
60 75 180

Tgﬁﬁiﬂl ﬂﬂ":‘? %Eﬁﬁ&j} ;E*#:;‘E
; i Max.Pressure | Gripping Range
Matching Cylinder ) (mm)

B-R2035 3.2
B-R2035 3.2
B-R2035 3.2
B-R2035 3.2
B-R2035 3.2
B-R2035 3.2
B-R2035 3.2

B-R2035 3.2

72 ~ 381 132
133~450 170
62 ~530 210
152~610 253
250~700 400
360~800 445
470~914 600

560~1000 770

BAFE=SMER

ULTRA LONG STROKE 3 JAW POWER CHUCK
1.2—FPHhfRE &,

2 REXK BefMeaatE!;
BNEEHARIIESEATEER, E5HEKR.

4 W )
4P
=
F—
D F P -
By
~ B | z
< 2 g gl 1S
Sl Ol o & o &
© = = Z —
18
U hé
E=—=1——q &
E1
firs
5 I
F
- - J
DIMENSIONS| A B | cHn| D1 | D2 | E F G |Hmax.| J1 [J2H9)| K
(mm) | (mm) [ (mm) [ (mm) | (mm) | (mm) | (mm) (mm) (mm) [ (mm) [ (mm) | (mm)
KBL-206 165 80 140 45 54 6-M10 16 104.8 10 21 60 20
KBL-208 215 93 170 65 74 6-M12 20 133.4 11.5 36 80 25
KBL-210 254 111 220 82 96 6-M12 17 171.4 13 55 105 25
KBL-212 304 130 220 92 102 6-M16 22 171.4 15 62 110 30
DIVERSICHS L N o) Pl | R| T u wo| X
mm) (mm) (mm) | (mm) [ (mm)| (mm) | (mm)| (mm) | (mm) | (mm)
KBL-206 -2~18 23.8~39.8 9~350 3 31 12 43 M30x2 37 73
KBL-208 —-4~21 33.8~53.8 10~35 5 35 14 55 M45x2 40 95
KBL-210 -2~26 46.3~67.3 13.5~375 5 40 16 62 Me5x2 45 110
KBL-212 14 -3.5~315 48.3~73.3 14~52 5 50 21 77 M72x2 53 130
DIMENSIONS | ##f7# (MTRER)|RELEE SAhh BABERN | spupne | BREREN
RF| punger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max Gripping Force Mot h'l Cli' gor| MPressure | Gripping Range
(mm) (DIAMM) | (min™) (KN) atching GYInder | (vog)
KBL-206 20 16 3600 22.6 19.6 K-Y1020 2.55 10~165
KBL-208 25 20 3000 31.4 27.5 K-Y1225 2.5 28 ~210
KBL-210 28 21 2400 37.3 34.3 K-Y1225 2.8 42 ~ 254
KBL-212 35 25 2100 49 48 K-Y1530 2.8 54 ~ 304

PAGE 48 / KEERBO'



=
e
24
firs
R
I

KEERBO

KBLT &%) 185
ULTRA LONG STROKE 2 JAW POWER CHUCK
o KBLTRO%SASKBLIAR

e . I
= pui
i
ok B
@ =& = e
T
. {:l:l =Hj =
< g g g\ kiflxe T I
<l o = = SRl
U
—] __|,__
4 _@
E/
5
F
B
\ J

KBLT-206 165 140 6-M10
KBLT-208 215 170 6-M12
KBLT-210 254 1 1 1 220 82 96 6-M12
KBLT-212 304 130 220 92 102 6-M16

17
22

104.8
133.4
171.4
171.4

115
13
15

55 105
62 110

DIMENSIONS C(H7) Hmax. J2(H)
(mm) (mm (mm) | (mm) [ (mm) (mm (mm) (mm) (mm (mm) (mm) (mm)

25
30

DIMENSIONS
(mm)|  (mm) (mm) (mm) (mm) (mm) | (mm) | (mm) [ (mm) (mm) (mm) | (mm)

KBLT-206 -2~18 23.8~39.8 9~30
KBLT-208 -4~21 25 33.8~53.8 10~35 5
KBLT-210 12 -2~26 30 46.3~67.3 13.5~37.5 5
KBLT-212 14 -35~31.5 30 48.3~73.3 14 ~52 5
DIMENSIONS | ##78 |TR(ER)|=RS BABEES
R | punger Stroke | Jaw Stroke | Max. Speed Max.Pull Force | Max.Gripping Force
(mm) (DIA.mm) (KN)
KBLT-206 20 16 3600 18.1 12.6
KBLT-208 25 20 3000 20.1 18.5
KBLT-210 28 21 2400 29.5 26.3
KBLT-212 35 25 2100 36 35

KEERBO'/ PAGE 49

35 14 55
40 16 62
50 21 77
BEMIES
K-Y1020 1.9
K-Y1225 1.6
K-Y1225 1.9
K-Y1530 1.8

M30 x 2

M45 x 2 40
Meé5x2 45
M72x2 53

95
110
130

11.8
23.3
34
60.2

NARERG

NW (2 +2) A8 (Vi) 8ctibak: |53
SOLID DOUBLE CLAMPING 2&4 JAW POWER CHUCK
o BFINTIESF S T4,

o RENX BB NG,
o [FRRIEERIEE.

f 1 Wil 5 | LS. 0 H \

p|lialis, @ ~ - 45°
st B s o ¥|—/' & B
| X a 3l = | o,
< =| 2| 3| & g = Z[ o] 5 I
< z)/ ~ < 'g- .5 < \:)/ < 9 I - - T ]
2 s
[N \ X &
2 Ut /)
e s i
g e .
| | .
L F | ! I——/M
|R |
\ NW-08 NW-10, 12, 15 /
NW-08 21 0 170 82 133.4
NW-10 110 120 103 170 110
NW-12 304 110 120 103 58 42 28 5.5 24 170 40 45 110
NW-15 381 135 195 130 78 55 38 7.5 30 235 50 53 129

DIMENSIONS
2l K o s st
mm mm mm

NW-08 43.7~50.3 29 15 175 17 20 -6.5~105 22~39 M12 12 M34x15 M14

NW-10 56 ~ 64 31 20 20 20 30 -4~18 27 ~49 M16 16 M42x1.5 M16
NW-12 56 ~ 64 31 20 20 20 30 -4~18 27~49 M16 16 M42x1.5 M16
NW-15 69.5~78 55 25 185 24 38 1~26 345~59.5 M20 18 M55x2.0 M20
DIMENSIONS 2(HR)&RE i = h . o
R~ Plﬁ\frgr%:ke ”Efs%ge) Max. Speed Max.Pull Force Mai—gﬁ:zéﬁrjc]e RERIHS @?ﬁiﬁ
(mm) | (DIAmm) (KN) -32-4aw | (KN 1-32-4fJaw | Metching Cylinder | =)
NW-08 17 13.2 3000 16.5 28 K-YY1220  1.71 26~210 23
NW-10 22 16 2000 23 42 K-YY1225  2.29 54~ 270 50
NW-12 22 16 1500 23 42 K-YY1225 2.29 54~ 304 58
NW-15 25 17 1200 28 54 K-YY1225 2.73 65~ 381 118

PAGE 50 / KEERBO'

PR S i E)




KEERBO

AR SESMER

3-JAW HOLLOW POWER CHUCK FIXTURES S

o T HAAR. UK. BRI THOFHNEENSERE
o FRANESEMERSE. RIHINEN, REER

h =1

0C (H7)

OA

2-PT1/4 ! f

\_ J

|
T (mm) [ (mm) [ (mm) (mm) [ (mm) | (mm) | (mm) [ (mm) [ (mm) (mm) (mm) (mm)
148 20 15 90 27 53 14 —

LN-04 110 117 130+0.2 M8x 1.25P

LN-06 203 165 25 15 95 131 36 72 20 185+02 M10x1.5P 3-M8x1.25P
LN-08 248 210 36 15 106 148 42 95 25  230+0.2 M10x1.5P 3-M8x1.25P
LN-10 300 254 50 16 110 156 46 110 30  280+0.2 M12x1.75P 3-M10x1.5P

DIMENSIONS (=38 (E R = % FFFEE 2
(DIA.mm) kgf(KN) kgf/cm*(Mpa)

LN-04 = 10 5.2 765(7.5) 110 15 7(0.7) 7.4
LN-06 3-M8 x 1.25P 12 5.2 2140(21) 165 23 7(0.7) 16.0
LN-08 3-M8 x 1.25P 14 6.3 3365(33) 210 30 7(0.7) 27.8
LN-10 3-M10x 1.5P 16 6.3 2400(24) 254 50 7(0.7) 425

KEERBO'/ PAGE 51

Rl RE RS

HERXSE=ME&

2-JAW HOLLOW POWER CHUCK FIXTURES
o ERTAEMFEINT, T/FRERLN

X . \ .
o _ ¢ o °I !’// o@?___ \.\l 30) 2-010H7
I  {eee [Plesier—
LI [ | f —— -
\\ o0 R o\\ / gD
s 1= = N P /@
N 0 ®
| | \\-\ ®) 2-PT1/4
iH s
/6
b |15 >

\_ J

DIMENSIONS A B C(H7) D E F G H | J o) P
RIN mm) | (mm) | mm) | mm)| mm) | (mm) | (mm) | mm) | (mm) | (mm) (mm) (mm)
148 20 15 90 27 53 14 —

LT-04 110 117 130+£0.2 M8x1.25P
LT-06 203 165 25 15 95 131 36 72 20 185+0.2 M10x1.5P 2-M8x1.25P
LT-08 248 210 36 15 106 148 42 95 25 230+0.2 M10x1.5P 2-M8x1.25P
LT-10 300 254 50 16 110 156 46 110 30 280+0.2 M12x1.75P 2-M10x 1.5P
E‘ I ! TUTRRER) %i?ﬁ%%j} . 95?**5 EREREN ==
g (mm) ) Jaw Stroke Max.Gripping Force Gripping Range (mm) Max.PrJessure Weigt (kg)
(DIA.mm) kgf(KN) kgf/cm?(Mpa)
LT-04 = 10 5.2 765(7.5) 110 15 6(0.6) 7.4
LT-06 2-M8 x 1.25P 12 5.2 2140(21) 165 23 6(0.6) 16
LT-08 2-M8 x 1.25P 14 6.3 3365(33) 210 30 6(0.6) 27.8
LT-10 2-M10x 1.5P 16 6.3 2400(24) 254 50 6(0.6) 42.5

PAGE 52 / KEERBO'

AR




KEERBO

mEREAS. HEER

HOLLOW POWER CHUCK FIXTURE

o RENPUEIESL;

o ERAK. TR, AR THOFREENSERRE, FEIJL
ZN—HEREFE L, TLSHIETE;

o FIRASEEGHE:

o ERRNEEERE—HFHE

~
J

4-0 - -
= g5
.__E[:: ~) ) \/
= / RN
R e T\
g g S DT (w4 ) -

[
}
|
|
|
|
B
P
2
:K\
7

i \%{\ ~ -—%5 ‘
Dll15 2-PT1/4 47
\_ - - y,
DIMENSIONS | A B C D E F G H |
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
LB-205 185 135 33 15 95 127 32 62 14 165
LB-206 228 168 45 16 118 158 40 73 20 202
LB-208 270 210 52 17 130 169 39 95 25 243
LB-210 315 254 75 19 146 190 44 110 30 285
LB-212 375 304 80 22 170 222 52 130 30 345
DIMENSI%NT? K L o P Q R
(i) (mm) (mm) (mm) (mm) (mm)
LB-205 25 13 M8 4-9 50 — 10 M8 —
LB-206 31 18 M10 4-F 11 67 = 12 M8 —
LB-208 35 18 M10 4-@ 11 75 18 14 M10 M10
LB-210 40 18 M12 4-F13 91 25 16 M12 M12
LB-212 50 18 M12 4-Z13 100 35 21 M12 M12
DIMENSIONS HEME | TEER)| RA#HEEH FHFEE RAEITE#EN GEE:W???
R\ Piston area | Plunger Stroke| Jaw Stroke | Max GrippingForce | Gripping Range | Max.Hydr.Pressure ol AL N
(mm) (DIA.mm) kgf(KN) (mm) (Mpa) (0.7Mpa) (KN)
LB-205 74 10 5.4 32.2 12~135 2.0 12.7 11.2
LB-206 97 12 5.5 49.4 15~ 168 2.0 19.6 20.5
LB-208 156 16 7.4 79.4 20~210 2.0 32.3 36
LB-210 243 19 8.8 120.9 33~254 2.0 47 55
LB-212 302 23 10.6 152 40~ 304 2.0 53.4 87

KEERBO'/ PAGE 53

Rl RE RS

3738 i ET

VERTICAL CYLINDER
o ZLIRELR. IR, WENARII T OFEETCHEL.
o TRASEEGHE.

~
J

b D5
I
F
jn
b D3
b D2
bD1
I 1
'
|
=)

| ot \

PSP °
30
a7 :l :\ 2-PT1/4

30 ~~_PTVs /

DIMENSIONS
2 D2(H7)

1

(mm)
LY1415 165 140
LY1820 210 170 40 M18 248 133.4 230
LY2225 254 220 45 M22 300 171.4 280

DIMENSI%NT? L4

(mm)
LY1415 15 -7~8

LY1820 M10 M12 92 5.5 15 -9~11 21.5
LY2225 M12 M16 100 5.5 15 -10~10 28.5

DIMENSIONS |  Ezf752 REEREN SERKXEN iHERKEN
Rt | PpistonStroke | Max.Pressure(Mpa) Max.Permissible input
)
0.7 1.5 8.5 8.1 20.8 20.1
LB-206 20 0.7 1.5 15.1 14.6 37.7 36.5

LB-208 20 0.7 1.5 21.4 20.8 53.6 51.9

PAGE 54 / KEERBO'



KEERBO

AR SES. HEES

PIN ARBOR TYPE POWER CHUCK FIXTURE

o FHERIRIT, AINTRHEM T SBEMEKES];

o ERHAR. TR, WLNLURINTHOFRENSERE
o AIRASEEGHE.

i P
—\/
: } —— -
,————‘_“-~\\\\\\~‘N‘
|
o
P ' %Close \ privs [NFopen
B I*— 2-PT1/4
80
DIMENSIONS C(H7)
(mm) (mm) (mm (mm) (mm) (mm (mm) (mm (mm mm)
LU-04 4 85.5 108  3x2-M5 103 0.75~2.25 755
LU-06 104.5 165  3x2-M6 15 185 136.5 1.25~3.75 103
LU-08 248 118.5 55 210  3x2-M6 15 230 15565 1.25~3.75 1255

DIMENSIONS Z3(H7) HETE TTHR(ER )
PIunger Stroke Jaw Stroke
(mm) mm) (mm) (mm (mm (mm) (DIA.mm)
LU-04 40.5 $ 10 6
LU-06 59.5 ~15 M10 ¢11 $10 10
LU-08 74.5 35 7~17 M10 $ 11 $10 5 10

SERAKFEN i ERAIIE S SEERNEA
Max.Gripping Force Air [ Max. anpmg Force (o]]]
Pressure 0.6Mpa Pressure(1

RIERNERD FHEE B
Max.Permissible Press | \jin Permissible Press | Gripping Range | Weight

TETI | ) | 9
LU-04 17. 4 0.2 4~60 7.4
LU-06 18.5 22 40 45 0.7 1.3 0.2 7~100 18
LU-08 37 44 80 84 0.7 1.3 0.2 7~130 33

KEERBO'/ PAGE 55

AR RS, HEES

INSIDE PIN ARBOR POWER CHUCK

o 1.LUEREIXMIES. HEEEEREAPUERERESLYHEIE
A

2EETFER. SIARIINTHOENRE, FAAE, R, &%
EEEZEISE

B.LUEREIARHES. HMERESIERTHNEEERFTEERER
KEOT A4,

AT T2 B ERERE, AKX INTiz/ErtE.

Rl RE RS

-

Q!
=
|
|
|

S

e
—
&// B.
/9
1
\\\\ @
A\

6-71

4-72

0G

B

2-PT1/4

o

Im PA 21 72 | z3w
h (mm
M8  $9  ¢10

LUE-05 PT1/8
LUE-06 203 122 PT1/8 165 15 185 157
LUE-08 248 144.5 PT1/8 215 15 230 174.5

g3 /=20 4112 RARFHEED
;ﬁ}g RETRE (ER) Max.Gripping Force (kgf)
Gripping Plunger

103 31

125 36

M10 411 ¢10

M10 411 ¢10

EefERED RIKE
Max.Pressure(Mpa) RIED

Jaw Min.
Range S Stroke Pressure
(mm) (mm) (DIA.mm) S[E Air JHJE oil JHE Oil (Mpa)

LUE-05 65~80 6 2.8 1300 3000
LUE-06 70~105 10 4.6 1700 3500
LUE-08 95~155 10 4.6 3500 7500

0.2 12
0.7 1.3 0.2 21
0.7 1.3 0.2 38.5

PAGE 56 / KEERBO'



=
i
iy
i
3
i

KEERBO

P 5236 FE B 5 T

SOLID HYDRAULIC ROTARY CYLINDER

e i

BT, AT RFFMERERIRRE BRI ERTE.,

BERIMEEIE EE LA SRR /N ESREE

\_

7
|

—
1
|

PT1/4

i

G (H8)

OF

i

[4))
D

J

DIMENSIONS E(h7) )
mm mm mm mm mm mm mm mm mm mm mm mm mm

MMENQONS Pmax Pmm EEE | BEESE
P\ston Stroke Max.Speed
mm mm mm mm mm (mm) rpmmﬁn 1), (kg.

KEERBO'/ PAGE 57

K-Y0815
K-y1020
K-Y1225
K-Y1530
K-Y2035

K-Y0815
K-y1020
K-Y1225
K-Y1530
K-Y2035

100
125
150
200

45
50
55
70

20
25
30
35

25
25
25
35

112
135
160
190
245

6-M8
6-M10
12-M12
12-M12
12-M16

100
130
130
145

164
179
186
195
220

80 25
110 35
110 45
120 55

2-PT3/8
2-PT3/8
2-PT3/8
2-PT3/8
2-PT1/2

16.5
16.5
25.0
31.0
37.0

20
25
30
35

M16 x 2P
M16 x 2P
M24 x 3P
M30 x 3.5P
M36 x 4P

6000
5500
5500
4000
4000

0.010
0.040
0.080
0.180
0.380

35
44
45
60

175
191
198
207
232

102
102
102
102
102

FBOIl EEER
o Pls(cn Area(cmz)

Leakage Ratef

(L/min)

0.8
0.8
0.8
0.8

#HN
Push Sidel

48
75
119
173
310

Pul\ S\de
43

68
110
157
286

89
96
105
130

35(3.4)
40(3.9
40(3.9
40(3.9

)
)
)
40(3.9)

119
134
141
150
175

BEEAEn| EE

Max.Pressure| Weight

kgf/cm2(Mpa) (kg)
3.5

5.0
6.8
10.0
19.5

| B-R Atk dnk

CLOSED CENTER ROTATING HYDRAULIC CYLINDER
WITH SAFETY DEVICE

EEANEET ERETS
B%,Tfm:lz%llﬁﬁﬁﬁﬁﬁﬁfﬁ”ﬁﬁ%”ﬁ%o

121, LARD LS EBRT E DR

—_
=\

=

R e L 2R

N

2-M5 X 10

45

40

2-M5 X110

K P
M 5
11 N
A: AL
B: {7#%
J
)
y4 ~I ~
0 ~
A —— | 4 = 12 = Q)
-(_ ~ =@ ~ ™ S
< = .
ST 2 o
+
a
ﬂ 8
.4.'_-7
— =
R Q

J

DIMENSIONS E(h7) G(H8)
mm) (mm mm) (mm (mm) | (mm) mm) mm) (mm) (mm mm) mm) (mm)

B-R0715
B-R1020
B-R1225
B-R1530
B-R2035

B-R0715
B-R1020
B-R1225
B-R1530
B-R2035

105
125
150
200

45
51
56
69

25
26
26
34

104
20 135
25 160
30 190
35 245

6-M6 x 20
6-M10 x 20
6-M12 x 24
12-M12x 24
12-M16 x 30

100
130
130
145

133
158
166
175
189

80
110
110
120

20
25
30
35

30
35
45
55

6000
6000
6000
5500
5500

M20 x 2.5P
21 M20x2.5P 35
25 M24 x3.0P 44
31 M30x3.5P 45
37 M36 x4.0P 60

R HE (L) A1

Max Operallng Force

0.003 16.6(1693) 13.9(1417) 0.8

0.013 32(3263)  29(2957) 0.8
0.023 46(4691)  42(4283) 0.8
60(6118) 0.8

(
0.048 66(6730)
0.098 117(11930) 108(11013 0.8

AROIl

Piston Stroke Max Speed eakage Rate
|y | iy [ %, | B

172
197
205
214
228

106 127
108 89 152
108 97 160

108 106 169
106 122 183

BEEAED
Max.Pressure

katlom2{Mp2)

40.8(4.0)

40.8(4.0
40.8(4.0
40.8(4.0
40.8(4.0

)
)
)
)

Plston Area(cmz) Weight
(kg)
44 37
86 79 71
122 113 10.0

176 160 135
314 290 22.0

PAGE 58 / KEERBO'

=
i
iy
i
3
i




KeEERBO B R A

_ B-RE A=ty :anka " NW-R ER A E3 -t anrga

CLOSED CENTER ROTATING HYDRAULIC CYLINDER SOLID DOULE-PISTON HYDRAULIC ROTARY CYLINDER
WITH SAFETY DEVICE AND STROKE CONTROL

o BEMEMENFPTHERGELL CERE T SRS o
&, LARS L (SBR[ 15898 T K AN E 5 (1B o) ot )
AR SRR, < |
'
S
]
4 K
e ~ NW-R u
| K P =
Jn
han] L M 5 ﬂ a
! (=]
é 11 N : D 2-M5X10 /I 1 i
s Az AL ﬁ’ _r 7’i’*’i’(;’ - ;Ig E 8
I 2-P13/8 B 7R o T—] s o
| 4 N - ' \
T \ﬂ |
#30 2-M5X 10 ‘ i
1 = e = i |
i
R 5 AB © Dr
NW-RE . Tl
M P2
2 4
\ B j E=
J2
H2
e
D'MENS'}%N_i A B c D Eh7)| F [G(H8) H J K | L M | N |Pmax|Pmin. /i R
(mm) | (mm) | (mm) (mm) | (mm) | (mm) | (mm) (mm) | (mm)f (mm) [ (mm)| (mm)f(mm)| (mm) | (mm) B I I Y AN | e IE g g -
]
B-0715RE 75 15 104 90 65 30 21 M20x25P 32 227 161 66 127 46 31 == r |
B-1020RE 105 20 135 100 80 30 21 M20x25P 35 252 163 89 152 45 25 | HL | |
B-1225RE 125 25 160 130 110 35 25 M24x3.0P 44 260 163 97 160 51 26 P i !
B-1530RE 150 30 190 130 110 45 31 M30x35P 45 269 163 106 169 56 26 L
B-2035RE 200 35 245 145 120 55 37 M36x4.0P 60 288 166 122 183 69 34 . 5 AB = Dr

DIMENSIONS Q R | s | T | mmee |semws| i zmol | BEwAEA| REAR [ @ k j
I e e o e e s e e R
(mm) __[r:p.m(min-1) (kg. m) (Umin) | kgrcm20pa) | B8] 7% | (ko)
23 41 15

B-0715RE 6-M6x20 133 6000 0.003 166(1693) 139(1417) 0.8  40.8(4.0) 42 37 45 Q
B-1020RE 6-M10x20 158 23 41 20 6000  0.013 32(3263) 292967 08 40.840) 8 79 76 (mm) | (mm) | (mm) | (mm) | (mm)
B-1225RE 6-M12x24 166 23 41 25 6000 0.023 46(4691) 424283 0.8  40.8(4.0) 120 113 105 NW-R1220 160 130 100 25 46 M16 M38x1.5p 35 35 276 168 61 41 36 16 237
[N B-1530RE  12-Mi2x24 175 23 41 30 5500 0.048 66(6730) 606118 0.8  40.8(4.0) 174 160 14.0 NW-R1225 174 145 110 20 50 M20 M42x1.5p 35 35 286 178 56 31 36 11 247 =
h& B-2035RE  12-M16x30 189 28 46 35 5500 0.098 117(11930) 10(11013) 0.8  40.8(4.0) 312 290 225 NW-RE1220 160 130 100 25 46 M16 M38xi5p 35 35 331 168 61 4 36 16 237 B
H NW-RE1225 174 145 110 29 50 M20 M42x1.5p 35 35 341 178 56 31 36 11 247 jr=
i i
ﬂ HETE | SEEEE THZEMA Piston Area(cm?) SEERAEAH — ﬂ
i?_q ~F | Piston Stroke Max.Speed (kgf) (kgf) Oil Leakage Rate Max.Pressure ngi;;fkg) M
I (mm) {min") (mm) kgifem'(pe) e
NW-R1220 20 5000 3300 3100 126 113 0.7 0.043 305 15.0
NW-R1225 25 5000 3300 3100 126 113 07 0.044 305 155
NW-RE1220 20 5000 3200 3100 123 113 0.7 0.044 305 16.0
NW-RE1225 25 5000 3200 3100 123 113 0.7 0.045 305 165

KEERBO'/ PAGE 59 PAGE 60 / KEERBO'



KeEERBO B R A

| K-A Absatant:3a | BS ATk

SOLID AIR ROTARY CYLINDER HOLLOW HYDRAULIC ROTARY CYLINDER
o XEHEAEEESLL EER MUK FREE S AR LT

XE—FMERBILEEL, BRETSHRSHE, MNP HERREHRATE,; 812,
ZEE, - SeEEER; BILA, ERESTEN; SRRRESRERAETRISE

(ZENBIRIR, fERaR, MEAHSE) .

80 N 5

b Ul

i
¢Q
b

b 60
1
1
G

]
F
E
C
B
A

PT1

Gl

6-M5x0. 8P T

DpP

NS J

e
(mm)  (mm) | (mm) [ (mm) (mm) (mm) | (mm) | (mm) [ (mm) [ (mm) | (mm) | (mm) | (mm)
25 M4 88 68 15 38 64 4 M5

6-WxD. P

- J

BS1036 1.0 1200 12-M10 127

(mm) | (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) (mm) | (mm) | (mm) | (mm) | (mm) | (mm) BS1552 120 1360 30 M6  12-M10 145 110 87 15 55 85 4 M6

LEL TS 152 150 120 I I I 11 143 35 20 63 < 27 BS1875 175 1545 35 M6  12-M10 162 155 101 15 80 108 4 M6
K-A1720 200 195 140 100 80 25 17 162 65 45 g2 118 45 BS2091 210 1680 35 M6  12-M12 183 165 110 15 95 120 4 M6
e 285 245 170 130 110 30 al i i i o BS2511 270 1910 45 M6  12-M16 218 206 135 15 125 160 5 M6

2 T U v W FEGRE |BEESE | MBI | vaxoomig foce |BBEAEN| EEER EE
(mm) (mm) (mm) (mm) Piston Stroke | Max.Speed Gd2 = KNk ;‘71 Max.Pressure P;:;‘;'”JA' #;TJZ) Weight
= ke 1’ o TR
(mm) rpmmin-1)| (kg. ) | o580, | purawe  [KI7OM2MP) I SiTEG | (k)
2 15

—_ K-A1315 Mi2x1.75 22  MBx10 5000 0.010 49(500) 48489 8.2(0.8) 131 128 5.0 E o
'Q) K-A1720 5 M16x2.0 30 M10x16 20 5000 0.028 85(867) 828%) 8.2(0.8) 227 220 8.2 (mm) [ (mm) | (mm) | (mm) (mm) (mm) [ (mm) [ (mm) | (mm) | (mm) [ (mm) (mm) (mm) 'Q)
hif K-A2225 5 M20x25 35 M12x20 25 4000 0.080 14.1(1438) 139(1417) 8.2(0.8) 378 371 9.8 BS1036 5 PT3/8 6 154 M44x15P 42 136 115 100 65 48  M42x15P 36 h,if
$ BS1246 6 PT1/2 6 170 M52x15P 50 155 130 100 80 65  M55x2.0P 46 $
T BS1552 7 PT1/2 6 210 M58x15P 56 190 170 130 85 70  M60x20P 52 o
E BS1875 7 PT1/2 4 235 M84x20P 81 215 190 160 125 95 M85x20P 75 %
"J BS2091 7 PT1/2 6 260 M99x20P 96 240 215 180 140 110  M100x2.0P 91 "J
||1|E BS2511 7 PT1/2 7 302 Mi134x2.0P 130 310 275 230 166 140  M130x2.0P 117 ME

KEERBO'/ PAGE 61 PAGE 62 / KEERBO'



=
i
iy
i
3
i

KEERBO

| BS AEEEnkT

HOLLOW HYDRAULIC ROTARY CYLINDER

XE—MeRBILOET, EETSESHE, ML SENENRRTHE; ézéé,
BEEEEEL; BILK, EEMAEZEM; RERRESMERAGEREE
(L HBLEEIR, 2%, ERAHSE).

I
SN

PT1

NS J

DIMENSIONS Vmax. [ Vmin. | W max. | W min.
(mm) (mm mm) (mm) (mm (mm) (mm) (mm (mm) (mm) (mm) (mm) (mm

BS1036 44.6 53.5 104 115 176.5 5
BS1246 36 52.9 64 85 90 116 115 184 10 -5 40 25 5
BS1552 36 59.6 73 96 102 135 130 196 17 -5 47 25 5
BS1875 36 84.6 98 121 131 164 160 230 20 -5 50 25 5
BS2091 36 99.6 108 138 147 180 185 253 25 -5 55 25 5
BS2511 40 134.6 148 178 184 230 210 304 24 -6 55 25 6

QUENSCNY| BEGR | np gy | BEERE| g HE EREER BAEW)N | BEERAES | g
Piston Stroke | ' ~/| Max.Speed (kq.m?) | Oil Leakage Rate | _Piston Area(cm’) Max.Pull Force KN(kgf) | Max.Pressure >

(mm) (DiA.mm) (min™) (L/min) ﬂ!w Push Side mw Push Side 1”‘] il Push Side 471@ pushsige|  Kaffom’(Mpa) egie
BS1036 24.5(2500) 23.5(2400) 40 (3.9) 10.0
BS1246 100 89 36.0(3700) 31.5(3200) 40 (3.9) 13.0
BS1552 160 150  57.0(5800) 54(5500) 40 (3.9) 18.5
BS1875 198 183 71.0(7200)  66(6700) 40 (3.9) 26.0
BS2091 252 234 91.0(9200) 85(8600) 40 (3.9) 37.0
BS2511 348 336 123(12400) 119(12000) 40 (3.9) 63.0

KEERBO'/ PAGE 63

BIRIEFEELER S

| BSS A:Eichg:Eanka

HOLLOW HYDRAULIC SHORT-INCH ROTARY CYLINDER

1 XR—MeRBIOEL, BRET SRR, UHILLERNENRRTRE;
2EER, gaEmE;

3BILK, BEERESIZEM;

A BRERRERMELAGERIEE OLMBKER, £-%, OEANHSE).

4 I
T 7
s A=
o
o
B )__j ]
H"‘}l = )
H BSS1246, 1452 BSS1775
o )
D"V'ENS|0NS Al A2 | Bi C1 E1 F1 G1 H1 J1 K1 L1 M1 N1 P1
mm mm mm mm mm mm mm mm mm mm mm mm mm mm
BSS1246 85 150 795 25  M6x6 M10x20 76 47 15
BSS1452 90 120 8.0 30 M6x6 M10x20 93 110 86 47 15 55 85 4
BSS1775 175 180 99.0 35  M6x6 M10x20 110 155 100 47 15 80 108 4
D"V'ENS|0NS Q1 Ri S1 T Ui Vi Wi X1 Y1 Z1
mm mm mm mm mm mm mm mm mm mm mm mm mm
BSS1246 M5 x 6 PT3/8 65 575 M52x1.5P 50 M8 x 1.25 47 130
BSS1452 M6x6 7  PT3)8 12 184 66 M58x1.5P 56 29  M8x125 180 165 140
BSS1775 M6x10 7  PTi2 12 216 71 M84x20P 81 33  M10x15 212 195 160
DIMENSIONS K Ve | Vit
mm mm mm mm mm) mm mm mm mm mm
BSS1246 M55x2 46 40 529 116
BSS1452 80 70 M60x2 52 40 529 73 9% 135 130 130 19 -3
BSS1775 105 95 M85x2 75 46 849 98 121 164 160 157 22 -3
DIMENSIONS ; BETE |- = | BB == A A EaEREN =
R~ W max. | W min. V4 Piston Stroke lﬁ%(ﬁ{é) Max.Speed . | oil Legﬁ'afe Rate | Max.Pull Force kgf(KN) Max.Pressure EE‘
(mm) | (mm) | (mm) (DIA.mm) ey J 3 Weigt (kg)
(mm) (min™) (L/min) 71 Push Side | 5770 Push Sicde kgf/cm®(Mpa)
BSS1246 41 25 8 16 128 8000 0.017 3 4466 3967 45.9 8.2
BSS1452 47 25 8 22 145 6500 0.031 3.9 5761 5313 45.9 13.0
BSS1775 50 25 8 25 170 5500 0.061 4.2 7209 6587 45.9 185

PAGE 64 / KEERBO'

[
ﬁ
E
=
1)
e




KeEERBO B R A

KY-RE £&:5 G vt kdnt | B-RH AGEZ &3 akd: ek

SOLID DOULE-PISTON HYDRAULIC SOLID HYDRAULIC ROTARY
ROTARY CYLINDER(AIR INJECTION) CYLINDER(WATER/AIR INJECTION)

4 ) 4 )
L " 5
Q
b e =
AB 2-PT3/8
b 2-¥, TN - 1 15 8
2l- 1 D 3 |<
| ¥ Hi-— == -t+e—+4-——- +-—-1+-— - — -3l | g
‘ @\M A@i S |8
N q/ N i
40 20 | e
» N
K P1
K P
- J - J

DIMENSIONS A1 31 F1 H1 DIMENSIONS HB

KY-RE123050 M24x15P  M42x1.5P B-RH0706 M20 x 2.5P
B-RH1020 105 20 135 100 80 30 21 M20 x 2.5P 35 243 89
B-RH1225 125 25 160 130 110 35 25 M24 x 3.0P 44 251 97

B-RH1530 150 30 190 130 110 45 31 M30 x 3.5P 45 260 106

DI MENSI%N_? » Pimax | P1min | P2max | P2min 1EETE .27‘3'%??& SEOEE BEEREN 55 B-RH2035 200 35 245 145 120 55 37 M36 x 4.0P 60 274 122
" ) m) | mm) | (mm) | (mm) Piston Stroke | Piston Stroke Max.Speed Max.Pressure Weigt (kg)
(mm) (mm) (min”) kgf/em‘(Mpa)

55 A a .
ﬁ KY-RE123050 6-M10 50 30 3000 40.8(4.0) 19.5 .. xﬁpﬁiﬁ)ﬂ?ﬂm MaxPressure F’Iskﬁgm ) We}%ﬁg) E:
K& L ]| B W&
u'_a' B-RH0706 6-M6 20 5000 0.043 166 13.9 15.0 h—g
'"43 . . - s o B-RH1020 45 25 6-M10 25 5000 0044 32 29 0.7 40 86 79 155 ﬁ
gg i EXIEZE B LRIEE PR K TR T EH. B-RH1225 51 26 6-M12 20 5000 0044 46 42 0.7 40 122 113 160 ﬂ
ig_q B-RH1530 56 26 12-M12 25 5000 0.045 66 60 0.7 4.0 176 160 165 i‘,’ﬂ
WE B-RH2035 69 34 12-M16 35 5000 0.098 117 108 0.7 40 314 290 220 ||l|E

KEERBO'/ PAGE 65 PAGE 66 / KEERBO'



KEERBO

_KB-A &5

ADAPTOR PLATES

E1ATERRE-STHNRTSFENERARENRE; E2ME3ATEE

(BUNIER ) - S FHAORT S FRENERAEREIRE,

B e éc

1

-

o

7° 7 30—t
o = &
¢ =~ =
<

= 7

|

LE

K1 (Fig. 1)

=
70 7 304
< —~
< ©
&} =
p=¢ b T o =
/Q <=
<
T
£
K1 (Fig.?2)

77 3()"%/I
r Et
= —~
o < 4 | | § =
- = - ©
= <
=
K1 (Fig.3)

J

DIMENSIONS
R |3k h6 D1 EE Weight
(mm) (mm) (mm) (mm) (mm) (mm (mm) ()]
A4

KB005A04 82.6 63.51 B1(Fig.1) 0.55
KB00BAO4 A4 140 1048 826 63.51 11 M10 20 — 1 (Fig.2) 1.60
KB00BAO5 A5 140 1048 = 82.56 11 = 15 = B1(Fig.1) 1.00
KB00BAOG A6 140 1048 1334 106.38 13 M10 30 165 B1(Fig.3) 3.50
KB00BAO5 A5 170 1334 10438 82.56 11 M12 24 - E1(Fig.2) 2.70
KB00BA06 A6 170 1334 — 106.38 13 - 17 - B1(Fig.1) 1.50
KB00BAOS A8 170 1334 1714 139.72 17 M12 40 210 B1(Fig.3) 6.20
KB010A06 A6 220 1714 1334 106.38 13 M16 28 — 1 (Fig.2) 3.00
KB010A08 A8 220 1714 = 139.72 17 — 18 — BE1(Fig.1) 2.70
KB015A08 A8 300 235 1714 139.72 17 M20 22 - E1(Fig.2) 8.50
KBO15A11 A11 300 235 — 196.87 21 = 22 — 1 (Fig.1) 6.50
KBO15A15 A15 300 235 3302 285.78 25 M20 50 380 B1(Fig.3) 22.00
KB021A08 A8 380 3302 1714 139.72 17 M22 27 - E1(Fig.2) 21.00
KB021A11 A11 380 3302 235 196.87 21 M22 27 — 1 (Fig.2) 18.00
KB021A15 A15 380  330.2 = 285.78 23 — 27 — BE1(Fig.1) 10.00
KB021A20 A20 380 3302 4636 412.78 27 M22 58 520 E1(Fig.3) 55.00

KEERBO'/ PAGE 67

- M-U &340

STANDARD SOFT BLANK JAW

BN &S

\_

C-13

-1 w8 15>
= §|s 5
sl 4l I
AN N\
X
02
-6, C7 C-8 -2 0.25
I I I
= I I I
|
2 &) [ T | o
LT 5
Lo == - — — —
| S—
Ak .
C-10 (:—12\&Fw -
-9
D'MENS'ONS c 1 c 2 c 3 c 4 c 5 c 6 c-7 c 8 c 9 c-10 | c-11 | c-12 C 3 R | ME8
(mm) | (mm) | (mm) [(mm) [ (mm) | (mm) [(mm) [ (mm) (mm) (mm) (mm) (mm) |(mm) (mm) (k@)
M-U04 135 15x60° 045
M-U05 62 25 30 10 5 9 14 39 13.5 9 21 M8 5 15x60° 070
M-U06 73 31 3 12 5 15 20 38 17 11 23 M10 14  15x60° 1.50
M-U08 95 35 37 14 5 25 25 46 19 13 22 M12 16  15x60°  2.40
M-U10 110 40 42 16 5 30 30 50 19 13 27 M12 18 15x60°  3.70
M-U12 130 50 50 21 5 39 30 61 25 17 30 M16 23 15x60°  6.20
M-U12-1 130 50 50 18 5 39 30 61 23 15 30 M14 23  15x60°  6.25
M-U15 165 62 62 22 8 37 43 85 32 21 38 M20 - 15x60° 12.80
M-U15-1 165 62 62 255 5 37 43 85 32 21 38 M20 - 15x60°  7.50
M-U24-1 180 65 70 25 9 40 60 80 32 21 45 M20 -  3.0x60° 16.00

PAGE 68 / KEERBO'



KeEERBO B E 5

| B-U AGi=ga: )l | K-W R g=a: )

SOFT JAW FOR PULL BACK CHUCK — SOFT JAW FOR SWING LOCK CHUCK

ke
i

|

|

|
¥

|

i

|
11

. 72 (Fig. 2
A1 (Fig. 1) B2 (Fig 2)
c6 c7 c2 Cl
C6 S I'Ll—' I
1 1T T |
i 8 [ N '
! . IINET=CY | 6. C1 c2
c408) 3 _IM 4 (118) v | |
| |
| |

J

S U R —

C5
-
H———}

/
c3
c8
O
_‘l'l_' o

C9

DIMENSIONS
C1 | c2 3 (:4(“8 Cs(“8 Ce | C7 | C8 (o]¢] C10 011 012 %%@ K j
(mm) mm) (mm) [ (mm) | (mm) | (mm) [ (mm) [ (mm) | (mm) | (mm) [ (mm) | (mm) (kg
B-U04 245 5 0.56 fig1 DIMENSIONS
B-U05 — 0.82 figl C1 c2 C3 c4t® | cs5He C6 c7 cs c9 C10 C11
B-U06 70 35 32.5 10 10 24 — 20 2.5 13 19 5.5 1.53 figl (mm) [ (mm) | (mm) (mm) (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) | (mm)
38.1

B-U06-1 70 35 33 14 8 13 20 18 3 11 17 7 1.43 fig2 K - WO06 4

B-U08 84 40 445 16 12 18 26 22 3.5 13 19 7 272 fig2 K - W08 44.45 4 43 5

B-U10 100 50 49.5 18 15 24 32 26 3.5 15 22 7 4.7  fig2 K-W10 100 70 64 57 4 19 44.5 525 17 25 40

B U12 120 60 54 20 17 24 36 28 3 17 26 6 7.64 fig2 K-W12 110 70 64 57 4 19 44.5 505 17 o5 —

B-U15 150 60 54 20 17 24 36 28 3 17 26 6 9.75 fig2 K-W15 140 80 74 66.7 4 24 54 58.5 21 32 —
K-Ww21 170 80 74 66.7 4 24 54 58.5 21 32 =

KEERBO'/ PAGE 69 PAGE 70 / KEERBO'



KeEERBO B E 5

- H-U &0y T-KN/T-BN A=

T-NUTS

STANDARD HARDENED JAW

fofgl o) folg ol =
(\ Figl Fig2
-7 | U7 -7 | U7
U1 U-1
U-2
r 1:U78 -6 m s e e H1 L H2 H1 H2
! :ﬂ ;? wiln L I . H5 H6 HI4 H5 H6 H|4
Dtk b | A b el i 1L M= 1L M=
iaviavie RN .. N JILEC e e R e Al o |4
U-1 L] |U-4] U-10 w - |U—4] T I ||| ¥ ! T T T ! J
H10
- J
K. 1(Fig. 1) K. 2 (Fig. 2)
(mm) | (mm) | (mm) [(mm) [ (mm) [ (mm) |(mm) | (mm) | (mm) (mm) (mm) kg 2
HU-05 100 4 M8 x 1.25P 1.5x 60° fig2 k /
HU-06 67 31 3 120 5 39 20 28 12 Mi0x1.5P 1.5x 60° 0.95 fig2
HU-08 87 3 51 140 5 30 25 18 12 M12x1.75P  1.5x60° 1.9 fig1
HU-10 101 40 54 160 5 46 30 18 13 M12x1.75P  1.5x60° 2.8 fig1 H1 H3 H4 H5 H6 |-|7 H9 H1O
HU-12-1 108 50 67 18.0 5 49 30 20 16 M16 x 2P 1.5x 60’ 3.7 fig1 T-KNO4 28.0 15.0 18.0 12.5 & 1(Fig1) KN-04,LN-04
HU-15 143 62 86 220 8 55 43 38 20 M20x2.5P 1.5x 60° 9.6 figl T-BNO5 26.0 150 150 10 14 6 95 M8 5 10  EM1(Fig1) BN-205,BT-205,BH-205
HU-15-1 143 62 86 255 5 55 43 38 20 M20 x 2.5P 1.5x 60’ 9.5 fig1 T-KNO5 26.0 15.0 165 10 14 6 11.0 M8 5 10 E1(Fig1) KN=05
T-BNO6 36.5 175 185 12 20 82 11.0 M10 5 11 E1(Figl) BN-206,BT-206,BH-206
T-KNO6 36.5 175 225 12 20 75 150 MI10 5 11  [E1(Figl) BN-06,KN-06,KT-06,L.N-06,LT-06
T-BNO8 46.5 200 205 14 25 105 120 Mi2 12 14 E1(Fig1) BN-208,BT-208,BH-208
T-KNO8 50.0 210 260 14 25 125 165 M12 8 14 [E1(Figl) KN-08,KT-08,LN-08,LT-08
T-BN10 51.0 225 215 16 30 11 130 Mi2 11 14 E1(Fig1) BN-210,BT-210,BH-210
T-KN10 55.0 225 255 16 30 11 160 Mi2 8 14  [E1(Figl) BN-10,KN-10,KT-10,LN-10,LT-10
T-BN12 55.5 295 278 21 30 115 163 Mi6 13—  E1(Fig1) BN-212,BT-212,BH-212
T-KN12 55.5 265 335 18 30 120 200 Mi4 12—  [E2(Fig2) KN-12,KT-12
T-BN15 80.0 335 380 24 43 17 215 M20 11— E2(Fig2) BN-215,8T-215,BH-215,
T-KN15 80.0 335 380 22 43 17 215 M20 11—  [@E2(Fig2) KN-15KN-18KT-15KT-18
T-KN24 1000 375 450 25 60 20 260 M20 16—  E2(Fig2) KN-21,KN-24,KT-21,KT-24

KEERBO'/ PAGE 71 PAGE 72 / KEERBO'



KeEERBO B E 5

ZRNRRTRR HC-DS A g et

T-NUTS FOR SWING LOCK CHUCK ( T | )
FEED SHAFT (SINGLE SPRING) COUPLING

0d1
0d2

DA
0D 1
0D2

IT
1l

e ~ B2/ R+ d1-d2 N1-N2 LF
18-19 53
| ]

20-22.24:25 | 58

HC - 070DS 70 63.5 235 | 65 5 31 | 4-05| M6 | 4-Me | 2-Me
1 o . 28-30 63
3235 68
' ! 222425 58

H1 HC - 080DS 80 69.3 28-30 63 | 255 | 83 5 37 | 4-05| M8 | 4-m6 | 2-M6
3235 68
28 68
30-32:35 73

H6 H7 HC - 090DS ) 68.7 3840 78 | 255 | 7.7 5 50 |3-06.7| M8 | 6-M6 | 3-M6
42 -45 83
o T 48 88
Ll Ll o 3235 73

TP T =

| I | | I | 38-40 78
4245 83

HS HC - 100DS 100 69.0 255 8 5 58 |3-06.7| M8 | 6-M6 | 3-M6
48-50-52 88
N ) 55 93
60 08

2. (EFLEAE BAL/UNIT : mm

HRAEAR d2
DIVEENSIONS HC-070DS I
HA 18 19 20 22 24 25 28 30 32 35
()] mm) (mm) (mm) (mm (mm) (mm) (mm mm) 18 A A A A A A A A A A
T-KWO06 464 12.5 11 3 294 2-M10 R2.5 19 A A N A A A A A A
T-KWO08 14.4 21 5 2-M10 R2.9 " " "
T-KW10 68.5 19.3 12 5 275 12 44.5 2-M16 R3.5 20 A A A A
T-KW15 83 22.2 18.3 11.3 32.3 14.5 54 2-M20 R3.5 . 22 A A A A A A A
¥R L 2d1
24 A A A A A A
25 A A A A A
28 A A A A
30 A A A
HC-080DS RAEALR d2

22 25 28 30 32 35

22 A A A A A A

25 A A A A A

AR d1 | 28 A A A A

30 A A A

32 A A

35 A

KEERBO'/ PAGE 73 PAGE 74 / KEERBO'



KEERBO

HC-DS &illz3:i b G )53 ES

HC090DS ¥R A& AL #Rd2
28| 30| 32| 35| 38| 40| 42| 45| 48
28 A A A A A A A A A
30 A A A A A A A A
32 A A A A A A A
35 A A A A A A
pREFLR d1 38 A A A A N
40 A A A A
42 A A A
45 A A
48 A
HC-100DS AR
32| 35| 38| 40| 42| 45| 48| 50| 52| 55| 60
32 A A A A A A A A A A A
35 A A A A A A A A A A
38 A A A A A A A A A
40 A A A A A A A A
_ 42 A A A A A A A
FREAR T 25 R N R N N N
48 A A A A A
50 A A A A
52 A A A
55 A A

E1LHE SMBEZHINARRINELRLE ;
2. AREENNARKRTER ML, THESHBINEETNEAT, FFHELZRE. REXRTEFHEEN m)

HC —[080] DS - [25] - [30

ks |—$éﬂ+&%€ L2 dl L4z d2

4. MI_E

. BRABURRRE s _ .
me BrHE = B EE HEHEEER HOoREER BHiRE BE
= (N -m) wm  wmA HMEBLZ  (min 1) (N -m/red) (N/mm) (kg -m2) (kg)
(mm) (% (mm)
HC-070DS 70 0.25 1 +0.5 18000 60000 105 0.68 x10°2 0.93
HC - 080DS 130 0.31 1 +0.5 17000 64000 - 1.03 x 10°3 1.22
HC - 090DS 200 0.3 1 +0.6 15000 140000 320 2.06 x 1072 1.63
HC - 100DS 300 0.31 1 +0.7 13000 160000 360 2.99 x 10-3 1.80

KEERBO'/ PAGE 75

BN &S

HC-SS A&if:zuin it ok} Es

T —EH & FEED SHAFT (DOUBLE SPRING) COUPLING

|
]

O 1

0dl1
0d2

0A
0D1

0D2

m:ﬂ
1

22 58
25 63
HC - 080SS 82 | 89 265 | 10 | 40 8 5 38 | 4-95 | M8 | 4-m6 | 2-M6
28-30-32 68
35 73
32 68
35 73
HC-090SS 94 | 89 38-40-42 78 265 | 10 | 50 8 5 42 | 4-96.7 | M8 | 4-m6 | 2-M6
45 83
48 88
35 73
38-40-42 78
HC-100SS 104 | 101 45 83 305 | 10 | 60 | 10 5 48 | 4- 985 | M8 | 4-M6 | 2-M6
48-50-52 88
55-60 98
38-40-42 78
45 83
HC-120SS 122 | 107 48-50-52 88 305 | 14 | 62 | 11 5 54 | 4- 8.5 | M10 | 4-M6 | 2-M6
55-60-62 98
65-70 108
45-48 98
50-52-55 108 6-M8
HC - 140SS 144 | 122 60 118 365 | 14 | 70 | 12 | 55 | 61 | 4-985 | M2 2-M8
62-65-70 128 4-M8
75-80 138
HC-080SS REAR A2
22 | 25 28 | 30 32 35
22 | a A A A A A
25 A A A A A
AR J o8 A | A A | A
30 A A A
32 A A
35 A
HC-090SS mEALRJ2
32 | 35 38 | 40 | 42 | 45 | 48
30 | A A A A A A A
o 35 A A A A A A
AR d1 35 2 < 2 2 =
40 A A A A

PAGE 76 / KEERBO'



KEERBO

HC-SS &N 3uimtd:brbid )i Es

HC-100SS trEfL R d2
35 | 38 | 40 | 42 | 45 | 48 | 50 52 | 55 | 60
35| a | a | a | a | a]| a|a A | a | a
38 A | A | a | a|a]a A | a | a
R R 40 A A A A A A A A
42 A | Ao | a|a A | Ao | a
45 A | a4 | a A | 4o | a
HC-120SS WA R d2
38 | 40 | 42| 45| 48 | 50 | 52 55 | 60 | 62 | 65 | 70
38| o | a | a | a| a| a| a| a|a|a]al]a
40 A | A a| a| a| a]| a]a|a]a]a
42 A| A | A a| a | a|aaa]a
RAEALE d1 45 A | A | a | a A | A [ a | a|a
48 A | A | A | A | A | a | aa
50 A | A | a4 | a [ 4a [ aa
50 A | A | a [ a | aa
HC-140SS FRAEARD2
45 | 48 | 50 | 52 | 55 | 60 | 62 | 65 | 70 | 75 80
45| o | a | a| al a| al a| a]alal]a
48 A | a| a[a| a| a] a]afal]a
o 50 A | A a| a] a] a]a]a A
wROEAEd1 52 N " A A N " A "N
55 A | A | a | a | a]a]a
60 A | A | a [ a | a | a

ELEEs STREEANARRIELRLE ;
2. FRELANARRTESRN AR, FHESHBINEENERT, BTFAELZRE. BERTEFHEERN m)

3. 1T B

HC -

zs  WF s
(mm)
HC - 080SS 100 0.3
HC-090SS 180 0.3
HC-100SS 250 0.3
HC- 120SS 450 0.4
HC- 140SS 800 0.4

KEERBO'/ PAGE 77

080

SS — (25

Lm% Lﬂmmﬁ Lﬂ%ﬁl

BRABHRKIRE
1w £ (0) HE BN
1( ) +1.1
1( &4 +2.4
1( ) +2.8
1( &4 +3.2
1(#£4u) +36

(mm)

REKE ARBHER HAREER
(N/mm)

(min - 1)

10000
10000
10000
10000
10000

- 130

(N -m/red)

41000
85000
125000
215000
390000

I—?Hé:d2

EHRE
(kg -m2)
1.61x10-3
2.71x10-3
4.53x10-3
7.93x10-3
16.60 x 10-3

#E
(ka)

1.73
2.15
2.85
4.18
6.15

KEB-400

ERMRItE, SRE. SEREEN

M IhIE B T B R M 2SR R B b R IE
750mm# B R A2 5 /N
BRRS T NET BRI RAEL R
R BH400mmiZ2 & E1450mm

RAMRERXRRIBHEIZ, AEELUHRIT TR EERN
EBMEESIEER. R, mEMESUELREMNT, BN
THERERZEBMIAENI0ME. Hob, REMREHTHTEL
REESHNAHESN, SHRARENBE. LARIZAL
RS R I THTFF Lk A F LB T

KEB-400

KEB-400E

<}

t

3

z(F

i
F&

TR EE

o

1.8 13 R AR BB Ml+R Bk 2 7 IR 3h;
2.83hk;

JEFHES;

45N, SHE;

5.4 RFHIE;

6. KEETAET SHhER.

I

[}
i
1"

™
_
-

I

1

=
S
=
=
-
=
-
=

PAGE 78 / KEERBO'



KeEERBO ST
KEB-400E KEB-600E
KEB-900E I B B R EE T
A ) N T\ B IUOHETE N
MI Mt LY} £ k. u n
reu it f T Counter Flow Rolling Machine
2.HZ ;
BEFHERE;
4TI, B e A
5 415 (R 35 77 1B
6.RMEETE T it ER. FHEE
& 7.3 R T E A TR Al T P
ji_&]
Ll T
I
: li
KEB-400 =
N = : :
ll 4‘% . oHe .
: -
= \
1 O
11 | &S|
¥ %
\ J

STRLE
|

ERES KEB-400E KEB-700E KEB-900E

MIEEER ¢ 20 mm $ 35mm $50 mm
N TIEEIRE 1.0mm 1.5mm 1.5mm

| mIwmme |

EEEZTTEN
= ' 100 mm 150 mm 200 mm IRIE A B TR ST B3t =
K& ‘ 410mm 710 mm 910 mm 1]
ﬂhl_a' . . 300 mm 300 mm 300 mm R T T #1785, %
o 5-8 B/ 712 B/ 15-20 /444 i
Ej - i’%iﬂﬂ‘iﬁﬁ% 40L 100 L 100L %
illli' EHEREEE) 850900 mmz2 1,000*1,300 mm2 1,200*1,510 mm2  RESEEAHABLEFTY. iﬂﬁ

2,050 mm 3,400 mm 3,600 mm

950 mm 1,150 mm 1,450 mm

25t 6.5t 7t

KEERBO'/ PAGE 79 PAGE 80 / KEERBO'



}

il
B
o

S

<}

zF BEIEA

KEERBO

KEB-400 KEB-600 e
KEB-900 IR EAL A,
Pimaus Counter Flow Rolling Machine

2 £ RIER UL
3AFHER;

A SR, SBE; ~ N
5.4 18R 3 5 1E;
6.k KIB/INT HLKRRY &y b A2,
EmAE T T il A
N %
N
i NS
ﬁ ¢ | ! //A\\ !
=5 — | ° , \
. +ﬁ 77777 {j
‘m L J
’1@ mm
£ i
] [ ]
o R o R
"
\_ J

EEHES | Ked-aoD |  KEB-500 |  KEB-900

N TIEEBEE 1.0mm 1.5mm 1.5mm HATEIL

1. B EHNEE T RHE

$20mm 30 mm 50 mm RSN TR S UK N
= .. — T MU R AT -
[y 2.4 MBRFHIER : =
& BT WRIIES 1oomm 199 mm 200mm R I & T AL 17231, e
e S 410 mm 610 mm 910 mm e}
& SRGFHIXT R AL LN B 300 mm 300 mm 300 mm REMT T4 TR, 4
= 5-7 W/ 7-12 B/ 15-20 B/f 4 H
] Sum—— 0L 120L 120L 1%
1E 850900 mm2 1,000,300 mm2 1,200,510 mm?2 o ) fie
2,850 mm 3.760 mm 3,600 mm RELRA PGS ER .
bil 950 mm 1,050 mm 1,450 mm

HIKREE 2.5t 45t 7t

KEERBO'/ PAGE 81 PAGE 82 / KEERBO'



KEERBO

eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee KEERBO ilfiIHliRiE

ME£E&T 0 HEBG

KEERBO'/ PAGE 83



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46

